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3 E| 2.73 2.1 1.18 —
4 E| 1. 66 1.9 0.52 —
AR RE ) et B
L % 5K -
N - RIS | smme | memaw | BEmmM R
wxprEns || EE | BEREE | ER® B
% % % %
148 £HEEAR 12| 10. 37 8.3 2.72 —
2% 6. 55 5.3 1.92 —
3E| 4.08 3.9 1.03 —
FHEFZEAR 2 Z| 7.33 5.1 2.93 —
3E| 4.06 3.1 1.76 —
4 Z| 2.47 2.7 0.78 —
3% £HEEAR 12 11.86 9.5 3.1 —
2| 7.51 6.0 2.20 —
3 &l 4. 66 4.4 1.19 —
FHEFZEAR 2 E| 20. 81 14.4 8.31 —
3E| 11.52 8.9 4.98 —
4 E| 7.01 8.0 2.19 —
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EHEFFESA i et B R Hh s
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g | osmmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | BEE BEWER R R
% % % %
6 %8 g4 T v AARK 1E| 2.36 1.1 1.62 —
2 F| 0.75 1.0 0.44 —
3F| 0.03 0.9 0.01 —
748 i VT vy XA 1% 2.80 1.3 1.83 -
2% 0.75 1.0 0.44 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hhigg HET B ihisg
itiEE £ 1Xi B EREET
B sEpx | NS | smme | mfpEs | BEES | 8BS
sEpaEn s | BEE REWEE R R
% % % %
6 %8 g4 T v AARK 1E| 5.17 1.3 3.88 —
2 F| 2.94 1.1 2.10 —
3F| 1.27 1.0 0.87 —
748 i VT vy XA 1% 7.49 1.6 5.90 -
2F| 4. 11 1.3 2.88 —
3F| 1.27 1.0 0.87 —
EHEFFESA Hhig; HET B ihisg
itiEE £ 1XiE tigE/NMe™H
B sEpx | NS | smme | mfpEs | BEES | BB
sEpaEn s | BEE BEWEE R R
% % % %
658 g4 T v AARK 1E| 2.94 1.2 2.01 —
2 F| 1.19 1.0 0.86 —
3F| 0.62 0.9 0. 41 —
748 i VT vy XA 1% 2.73 1.1 1.93 -
2F| 1.19 1.0 0.86 —
3F| 0.62 0.9 0. 41 —
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658 Hilg A VT vy RA 12 3. 36 1.5 2.12 -
2% 0.96 0.9 0. 69 -
3% 0.37 0.9 0.20 -
748 g4 T vy RAR 12 3.56 1.5 2.29 -
2% 0.96 0.9 0. 69 -
3% 0.37 0.9 0.20 -
#HIERTE A Hhiz #HET B thisg
tiEE F1RXE iEEERET
i*l\ﬁﬁyél\gué b 1 he= 1 oy oy
HEBREZEEE e e = = =
% % % %
658 Hilg A VT vy RA 12 1.40 1.1 0.83 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A Hhiz HET B ihisg
tiEE %1 R tiEEIER™
XILBIAEIA : , -
HEBREZEES e e = = =
% % % %
648 Hilg A VT vy RA 12 1.40 1.1 0.83 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
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D) siEms | s | AEMs | mwEs | mRER | REd
fEREESS | T R . -
% % % %
6% Hulg A Ty AAR 1] 4.98 1.4 3.59 -
2 & 2.90 1.0 2.22 -
3 & 1.87 1.0 1.37 -
74 A VT Yo RAH 18 4.68 1.2 3.49 —
2 2.90 1.0 2.22 -
3 &l 1.87 1.0 1.37 -
HEFRE ot AT B
I % 1R Lt RS
D) siEms | s | AEME | mwEs | mRER | EEd
wEREEss | T RS A A
% % % %
6% Hilg A VT vy AAR 1] 4.24 1.3 2.99 -
2 & 1.82 1.0 1.32 -
3 & 1.19 0.9 0.88 -
74 A VT Yo RAK 18 4.01 1.3 2.86 —
2 1.97 1.1 1.36 -
3 &l 1.19 0.9 0.88 -
HEFRE ot hET B
Il %1 R ILit:8 5 3R
A5 sEms | e | AEEE | mregw | AgES | fEe
wEREEss | T ek A A
% % % %
6% Hulg A Ty RAAR 1] 1.16 1.1 0.65 -
2 & 0.05 0.9 0.02 -
3 & 0.03 0.9 0.01 -
74 A VT Yo RAK 18 1.41 1.1 0.85 —
2 0.05 0.9 0.02 -
3 &l 0.03 0.9 0.01 -
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= % wxprEns | PEE | BEREE | ERE 2%
% % % %
64 A Ty RAAR 18| 1.13 1.1 0.60 -
23 0.05 0.9 0.02 -
3 & 0.03 0.9 0.01 -
78 g4 > Ty o RAR 1 1.19 1.1 0. 65 -
2% 0.05 0.9 0.02 -
3E| 0.03 0.9 0.01 -
BEFRE i et B i
tEE %159 tmEEES
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N S IRBIEEE | srme | menEw | SRR RN
= % wxprEns || EEE pEnEE | EpE e
% % % %
64 A Ty RAAR 18| 13.39 1.3 12.10 -
23 11.67 1.2 10. 48 -
3 & 9.74 1.2 8.55 -
78 g4 > Ty o RAR 1 13.41 1.4 12.02 —
2% 11. 67 1.2 10. 48 -
3 9.74 1.2 8.55 -
BERRE i et B i
mE %19 tEEEHT
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N S TIBEHE | gpme | mewan | BRBH R
= % wxprEns || EEE pEnEE | ERE e
% % % %
6% iAo Ty RAAR 18| 2.46 1.1 1.76 -
2%E| 0.94 1.0 0.60 -
3 & 0.03 0.9 0.01 -
78 g4 > Ty o RAR 1 0.89 1.0 0.55 -
2% 0.05 0.9 0.02 -
3E| 0.03 0.9 0.01 -
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6 %8 g4 T v AARK 1E| 4.83 1.2 3.64 —
2 F| 3.08 1.1 2.28 —
3F| 1.67 1.0 1.20 —
748 i VT vy XA 1% 5.34 1.3 4.05 -
2F| 3.08 1.1 2.28 —
3F| 1.67 1.0 1.20 —
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g | osmmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE REWEE R R
% % % %
6 %8 g4 T v AARK 1E| 1.40 1.1 0.83 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
748 i VT vy XA 1% 1.48 1.1 0.89 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
itiEE %1 X dtiEEER™
B T 1 R O
sEpaEn s | BEE BEWEE R R
% % % %
658 g4 T v AARK 1E| 2.23 1.3 1.34 —
2 F| 0.14 0.9 0.02 —
3F| 0.03 0.9 0.01 —
748 i VT vy XA 1% 2.24 1.3 1.35 -
2F| 0.14 0.9 0.02 —
3F| 0.03 0.9 0.01 —
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6 %8 igif T v RAK 12| 1.71 1.5 6.28 —
2| 4.86 1.2 3.67 —
3E| 2.84 1.1 2.08 —
748 A LTy ) XA 1 4.81 1.3 3.52 -
2| 2.75 1.0 2.09 —
3E| 1.68 0.9 1.28 —
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% % % %
6 %8 igi4A T v RAK 12| 0.36 1.0 0.08 —
2| 0.05 0.9 0.02 —
3E| 0.03 0.9 0.01 —
748 A LTy AAR 1 0.36 1.0 0.08 -
2| 0.05 0.9 0.02 —
3E| 0.03 0.9 0.01 —
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A5 sEms | s | AEEE | mredw | AgEE | Ee
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6 %8 igiA T v RAK 12| 6. 55 1.3 5.26 —
2| 4.06 1.2 2.94 —
3E| 2.02 1.0 1.49 —
748 A 2Ty AAR 1 5.73 1.2 4.54 -
2| 3.77 1.1 2.79 —
3E| 1.97 1.0 1.45 —




HEEMDELE

K=
EHEFFESA Hh g HET B ihisg
tiEE % 1Xi dtEER AT
g | smmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE BEWEER R R
% % % %
6 %8 g4 T v AARK 1E| 1.40 1.1 0.83 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
748 i VT vy XA 1% 1.48 1.1 0.89 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hhigg HET B ihisg
itiEE % 1Xi tEELT R
g | osmmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE REWEE R R
% % % %
6 %8 g4 T v AARK 1E| 0.50 1.0 0.23 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
748 i VT vy XA 1% 0.73 1.1 0.33 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
itiEE £ 1Xi IEELET
B T 1 R O
sEpaEn s | BEE BEWEE R R
% % % %
658 g4 T v AARK 1E| 0.25 1.0 0.02 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
748 i VT vy XA 1% 0.25 1.0 0.02 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
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658 Hilg A VT vy RA 12 3.03 1.1 2.18 -
2% 1.27 1.0 0.87 -
3% 0.53 0.9 0.33 -
748 g4 T vy RAR 12 3.20 1.1 2.32 -
2% 1.27 1.0 0.87 -
3% 0.53 0.9 0.33 -
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tiEE %1 R iEEREM
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HEBREZEES e e = = =
% % % %
658 Hilg A VT vy RA 12 1.40 1.1 0.83 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HERTE A Hhiz HET B dhisg
tiEE %1 R TiEEFHEM
XILBIAEIA : , -
HEBREZEES e e = = =
% % % %
648 Hilg A VT vy RA 12 2.37 1.1 1.63 -
2% 0. 64 1.0 0. 31 -
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 2.21 1.1 1.50 -
2% 0. 60 1.0 0. 31 -
3% 0.03 0.9 0.01 -
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658 Mt A > Ty AAR 12 1.59 1.1 1.04 —
2% 0. 41 1.0 0.16 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 2.06 1.1 1.37 -
2% 0. 67 1.0 0.37 —
3% 0.03 0.9 0.01 —
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HEBREZEE S e e = = =
% % % %
658 Mt A > Ty RARE 12 4.71 1.2 3.52 —
2% 2.90 1.1 2.13 —
3% 1.46 1.0 1.03 -
748 g4 T vy RAR 12 4.94 1.2 3.75 -
2% 2.96 1.1 2.12 —
3% 1.40 1.0 0.98 —
#ERTE A hisg ST E R thig
tiEE % 1R EEHERAT
X HFREIE [ s o e, " "
HEBREZEES e e = = -
% % % %
648 Mt > Ty AARE 12 1.40 1.1 0.83 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
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% % % %
658 Mt A > Ty AAR 12 0.20 0.9 0.06 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 0.82 1.1 0. 41 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
#HIERTE A Hhiz #HET B thisg
tiEE F1RXE tiEEERET
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HEBREZEES e e = = =
% % % %
658 Mt A > Ty RARE 12 1.44 1.0 1.01 —
2% 0.74 0.9 0.51 —
3% 0.10 0.9 0.01 -
748 g4 T vy RAR 12 1.10 0.9 0. 80 -
2% 0. 60 0.9 0.39 —
3% 0.03 0.9 0.01 —
#HERTE A Hhiz HET B dhisg
tiEE %1 R iEEZR™
X HFREIE [ s N " "
HEBREZEES e e = = =
% % % %
648 Mt > Ty AARE 12 1.40 1.1 0.83 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
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6%8 g4 T v AARK 1E| 2.13 1.1 1.43 —
2 F| 0.43 0.9 0.25 —
3F| 0.03 0.9 0.01 —
748 g4 T vy RAR 12 2.32 1.2 1.50 -
2F| 0.43 0.9 0.25 —
3F| 0.03 0.9 0.01 —
ERE A e GEE I
e % 1 &0 LEEFET
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N S IBIEHE | srme | memEw | SRR RN
= 2 SR 2 = =6 g R R
% % % %
6%8 g4 T v AARK 1E| 3.26 1.3 2.23 —
2F| 1.64 1.0 1.18 —
3F| 0.43 0.9 0.25 —
748 g4 T vy RAR 12 4.80 1.3 3.51 -
2F| 3.00 1.1 2. 21 —
3F| 1.26 1.0 0.86 —
ERE e GEE I
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= 2 SR 2 m5e =it g R i
% % % %
6%8 g4 T v AARK 1E| 4.87 1.1 3.78 —
2 F| 3.08 1.0 2.37 —
3F| 2.07 1.0 1.53 —
748 g4 T vy RAR 12 5. 62 1.3 4.33 -
2F| 3.08 1.0 2.37 —
3F| 2.07 1.0 1.53 —
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658 Mt A > Ty AAR 12 2.16 1.2 1.37 —
2% 0.54 0.9 0. 34 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 2.54 1.2 1.68 -
2% 0.54 0.9 0.34 —
3% 0.03 0.9 0.01 —
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HEBREZEES e e = = =
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658 Mt A > Ty RARE 12 4.47 1.3 3.20 —
2% 2.09 1.1 1.46 —
3% 0.76 0.9 0.52 -
748 g4 T vy RAR 12 4. 68 1.3 3.39 -
2% 2.14 1.1 1.46 —
3% 0.76 0.9 0.52 —
#HERTE A Hhiz HET B dhisg
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X HFREIE . s N " @
HEBREZEES e e = = =
% % % %
648 Mt > Ty AARE 12 1.20 1.3 0.53 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.4 0. 62 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
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6 %8 g4 T v AARK 1E| 2.02 1.3 1.18 —
2 F| 0.29 0.9 0.13 —
3F| 0.03 0.9 0.01 —
748 i VT vy XA 1% 2.85 1.4 1.76 -
2F| 0.54 0.9 0.34 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hhigg HET B ihisg
itiEE % 1Xi dtEE A RiTET
g | osmmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE REWEE R R
% % % %
6 %8 g4 T v AARK 1E| 4.26 1.5 2.85 —
2 F| 1.66 1.1 1.12 —
3F| 0.38 0.9 0.21 —
748 i VT vy XA 1% 4.35 1.5 2.92 -
2F| 1.66 1.1 1.12 —
3F| 0.38 0.9 0.21 —
EHEFFESA Hh g HET B ihisg
itiEE %1 X tiEEESET
B T 1 R O
sEpaEn s | BEE BEWEE R R
% % % %
658 g4 T v AARK 1E| 3.05 1.1 2.25 —
2 F| 1.90 1.0 1.39 —
3F| 1.27 0.9 0.94 —
748 i VT vy XA 1% 3.14 1.1 2.33 -
2F| 1.90 1.0 1.39 —
3F| 1.27 0.9 0.94 —
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2 4.16 1.1 3.17 -
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6% Hilg A VT vy AAR 1] 3.81 1.2 2.73 -
2 & 2.15 1.0 1.60 -
3 & 1.06 0.9 0.77 -
74 A VT Yo RAK 18 3.89 1.2 2.80 —
2 2.15 1.0 1.60 -
3 &l 1.06 0.9 0.77 -
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% % % %
6% Hulg A Ty RAAR 1] 3.52 1.3 2.43 -
2 & 1.79 1.0 1.30 -
3 & 0.86 0.9 0. 60 -
74 A VT Yo RAK 18 3.60 1.3 2.49 —
2 1.79 1.0 1.30 -
3 &l 0.86 0.9 0.60 -
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6% Hulg A Ty AAR 1] 1.40 1.1 0.83 -
2 & 0.05 0.9 0.02 -
3 & 0.03 0.9 0.01 -
74 A VT Yo RAH 18 1.48 1.1 0. 89 —
2 0.05 0.9 0.02 -
3 &l 0.03 0.9 0.01 -
HEFRE ot AT B
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D) siEms | s | AEME | mwEs | mRER | EEd
wEREEss | T RS A A
% % % %
6% Hilg A VT vy AAR 1] 4.15 1.2 3.01 -
2 & 1.98 1.1 1.31 -
3 & 0.53 0.9 0.33 -
74 A VT Yo RAK 18 4.19 1.2 3.05 —
2 2.03 1.1 1.35 -
3 &l 0.53 0.9 0.33 -
HEFRE ot hET B
Il %1 R i3t/ \ AT
A5 sEms | e | AEEE | mregw | AgES | fEe
wEREEss | T ek A A
% % % %
6% Hulg A Ty RAAR 1] 1.65 1.5 6.16 -
2 & 4.57 1.2 3.38 -
3 & 1.98 1.0 1.42 -
74 A VT Yo RAK 18 7.30 1.6 5.71 —
2 4.30 1.1 3.23 -
3 &l 2.24 1.1 1.58 -
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6 %8 g4 T v AARK 1E| 3.56 1.1 2.62 —
2 F| 1.91 1.0 1.40 —
3F| 1.32 0.9 0.99 —
748 i VT vy XA 1% 6.17 1.2 4.98 -
2F| 3.82 1.1 2.83 —
3F| 2.08 1.1 1.45 —
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% % % %
6 %8 g4 T v AARK 1E| 3.08 1.3 2.07 —
2 F| 0.76 1.0 0.45 —
3F| 0.03 0.9 0.01 —
748 i VT vy XA 1% 2.27 1.2 1.49 -
2F| 0.49 1.0 0.22 —
3F| 0.03 0.9 0.01 —
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658 g4 T v AARK 1E| 3.96 1.3 2.76 —
2 F| 1.92 1.0 1.37 —
3F| 1.22 0.9 0.90 —
748 i VT vy XA 1% 5.52 1.6 3.93 -
2F| 2.49 1.2 1.68 —
3F| 1.22 0.9 0.90 —
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64 A Ty AARX 18| 2.60 1.3 1.63 -
23 0.55 1.0 0.27 -
3 & 0.03 0.9 0.01 -
78 g4 > Ty o RAR 1 2.41 1.2 1.57 -
2% 0.55 1.0 0.27 -
3E| 0.03 0.9 0.01 -
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HERRE i et B i
TtmiE %159 BT
L 2| A
N S IRBIEEE | srme | menEw | SRR RN
= % wxprEns | BEE | BEREE | ERE Bt
% % % %
64 A Ty AARX 18| 2.62 1.1 1.84 -
23 1.26 1.0 0. 86 -
3 & 0.30 0.9 0.14 -
78 g4 > T v o RAR 1 2.71 1.1 1.91 -
2% 1.26 1.0 0.86 -
3 0.30 0.9 0.14 -
HERRE i et B i
s %159 T8 T
L | A
N - IRBIEHE | srme | memEw | SRR RN
= % wxprEns | PEE | BEREE | ERE Bt
% % % %
6% A Ty AARX 18| 3.84 1.1 2.91 -
2%E| 2.80 1.0 2.14 -
3 & 1.75 0.9 1.34 -
78 g4 > Ty o RAR 1 2.80 1.0 2.14 —
2% 2.17 0.9 1. 69 -
3 1.75 0.9 1.34 -




HEEMDELE

A=
HEFRE ot hET B g
I %1 R LimE B BT R
D) siEms | s | AEMs | mwEs | mRER | REd
fEREESS | T R . -
% % % %
6% Hulg A Ty AAR 1] 3.4 1.1 2.55 -
2 & 2.44 0.9 1.91 -
3 & 2.06 0.9 1.60 -
74 A VT Yo RAH 18 3.50 1.1 2.62 —
2 2.44 0.9 1.91 -
3 &l 2.06 0.9 1.60 -
HEFRE ot AT B
I % 1R Rt Gl
D) siEms | s | AEME | mwEs | mRER | EEd
wEREEss | T RS A A
% % % %
6% Hilg A VT vy AAR 1] 0.72 1.0 0.41 -
2 & 0.05 0.9 0.02 -
3 & 0.03 0.9 0.01 -
74 A VT Yo RAK 18 0.97 1.0 0. 62 —
2 0.05 0.9 0.02 -
3 &l 0.03 0.9 0.01 -
HEFRE ot hET B
Il %1 R It IR P AT
A5 sEms | e | AEEE | mregw | AgES | fEe
wEREEss | T ek A A
% % % %
6% Hulg A Ty RAAR 1] 6.48 1.2 5.29 -
2 & 5.05 1.1 3.96 -
3 & 3.56 1.0 2.76 -
74 A VT Yo RAK 18 6. 22 1.2 5.03 —
2 4.75 1.1 3. 66 -
3 &l 3.49 1.0 2.1 -




HEEMDIELE

K=
EHEFFESA ik et B R Hh s
itiEE £ 1XiE dtiEE s
g | osmmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | | BEE BEWER R R
% % % %
6 %8 g4 T v AARK 1E| 9.82 1.3 8.53 —
2 F| 8.19 1.1 7.10 —
3F| 6.48 1.1 5.39 —
748 i VT vy XA 1% 6.14 1.2 4.95 -
2F| 4.57 1.0 3.60 —
3F| 3.78 1.0 2.95 —
HEFFESA ik et B R dh s
itiEE £ 1XiE dt g & /N HT
g | osmmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE R EE R R
% % % %
6 %8 g4 T v AARK 1E| 3.85 1.5 2.51 —
2 F| 1.33 0.9 0.99 —
3F| 0.79 0.9 0.55 —
748 i VT vy XA 1% 4.36 1.8 2.64 -
2F| 1.33 0.9 0.99 —
3F| 0.79 0.9 0.55 —
EHEFFESA i et B R dh s
itiEE %1 X dtiEE ERifET
B Epx | NS smme | mfpEs | BEES | 8BS
sEpaEn s | | BEE BEMEER R R
% % % %
658 g4 T v AARK 1E| 2.43 1.4 1.40 —
2 F| 0.25 0.9 0.10 —
3F| 0.03 0.9 0.01 —
748 i VT vy XA 1% 2. 41 1.3 1.49 -
2F| 0.23 0.9 0.08 —
3F| 0.03 0.9 0.01 —




HEEMDELE

K=
EHEFFESA Hh g HET B ihisg
tiEE % 1Xi At & PR AT
g | smmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE BEWEER R R
% % % %
6 %8 g4 T v AARK 1E| 2.98 1.3 1.95 —
2 F| 0.57 1.1 0.20 —
3F| 0.03 0.9 0.01 —
748 i VT vy XA 1% 3.29 1.1 2.39 -
2F| 1.23 1.1 0.75 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hhigg HET B ihisg
itiEE %1 X At & 4L B A
g | osmmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE REWEE R R
% % % %
6 %8 g4 T v AARK 1E| 1.81 1.4 0.93 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
748 i VT vy XA 1% 2.77 1.4 1.70 -
2F| 0.43 1.0 0.17 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
itiEE £ 1Xi At ;8 E 3= Al BT
B T 1 R O
sEpaEn s | BEE BEWEE R R
% % % %
658 g4 T v AARK 1E| 10.14 1.6 8.55 —
2 F| 7.08 1.3 5.79 —
3F| 4.25 1.1 3.19 —
748 i VT vy XA 1% 9.44 1.6 7.85 -
2F| 6.29 1.3 5.00 —
3F| 4.01 1.1 3.05 —




HEEMDIELE

XK=
#HIERTE A Hhiz HET B ihisg
tigE %1 R tiEEXIERT
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
658 Hilg A VT vy RA 12 0.84 1.1 0.36 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 0.93 1.1 0. 44 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A Hhiz #HET B thisg
tiEE F1RXE tiEEIRILA
i*l\ﬁﬁyél\gué b 1 he= 41 oy PN
HEBREZEES e e = = =
% % % %
658 Hilg A VT vy RA 12 1.40 1.1 0.83 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HERTE A Hhiz HET B dhisg
tiEE %1 R At & R E Bl BT
XILBIAEIA : , -
HEBREZEES e e = = =
% % % %
648 Hilg A VT vy RA 12 1.40 1.1 0.83 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -




HEEMDELE

XK=
#HIERTE A hizg ST E L thig
tiEE %1 R At i@ & hifE B BT
T HFREIE . s N " "
HEBREZEE S e e = = =
% % % %
658 Mt A > Ty AAR 12 1.40 1.1 0.83 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
#HIERTE A hisg ST E R thig
tiEE £1RXE dtiEE A == HT
T HGHREIE . s N " "
HEBREZEE S e e = = =
% % % %
658 Mt A > Ty RARE 12 1.40 1.1 0.83 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
#ERTE A hisg ST E R thig
tiEE £1RXE tiEEE =0T
X HFREIE . s o e, " "
HEBREZEES e e = = -
% % % %
648 Mt > Ty AARE 12 1.40 1.1 0.83 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —




HEEMDIELE

XK=
#HIERTE A Hhiz HET B ihisg
tigE %1 R JtiEE #L S HT
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
658 Hilg A VT vy RA 12 1.40 1.1 0.83 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A Hhiz #HET B thisg
tiEE %1 R JtiEEF| R ET
i*l\ﬁﬁyél\gué b 1 he= 41 oy PN
HEBREZEES e e = = =
% % % %
658 Hilg A VT vy RA 12 1.40 1.1 0.83 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HERTE A Hhiz HET B dhisg
tiEE £1RXE LEEFRE T
XILBIAEIA : , -
HEBREZEES e e = = =
% % % %
648 Hilg A VT vy RA 12 1.40 1.1 0.83 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -




HEEMDELE

K=
EHEFFESA Hh g HET B ihisg
tiEE % 1Xi At ;5 & IR LE AT
g | smmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE BEWEER R R
% % % %
6 %8 g4 T v AARK 1E| 1.30 1.1 0.80 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
748 i VT vy XA 1% 1.39 1.1 0.88 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hhigg HET B ihisg
itiEE %1 X JtiEE ERET
g | osmmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE REWEE R R
% % % %
6 %8 g4 T v AARK 1E| 5.72 1.6 4.13 —
2 F| 3.17 1.1 2.35 —
3F| 1.59 1.0 1.13 —
748 i VT vy XA 1% 5.17 1.4 3.78 -
2F| 3.17 1.1 2.35 —
3F| 1.59 1.0 1.13 —
EHEFFESA Hh g HET B ihisg
itiEE £ 1Xi At ;& i A BT
B T 1 R O
sEpaEn s | BEE BEWEE R R
% % % %
658 g4 T v AARK 1E| 5.48 1.4 4.09 —
2 F| 2.74 1.1 2.00 —
3F| 1.34 0.9 1.00 —
748 i VT vy XA 1% 5.26 1.3 3.97 -
2F| 2.74 1.1 2.00 —
3F| 1.34 0.9 1.00 —




HEEMDIELE

XK=
#HIERTE A Hhiz HET B ihisg
tigE %1 R dtiEER BRT
T HFHREIE [ s o e, " "
HEBREZEE S -~ -~ = = =
% % % %
648 Mt A > Ty AAR 12 9.27 1.1 8.18 —
2% 8.31 1.1 7.22 —
3% 7.33 1.1 6. 24 -
748 g4 T vy RAR 12 9.23 1.1 8.14 -
2% 8.31 1.1 7.22 —
3% 7.33 1.1 6. 24 —
#HIERTE A Hhiz #HET B thisg
tiEE F1RXE dtiEE B BT
i*l\ﬁﬁyél\gué b 1 he= 41 oy PN
HEBREZEES e e = = =
% % % %
648 Mt A > Ty RARE 12 10. 51 1.3 9.22 —
2% 8.43 1.2 7.24 —
3% 6.03 1.2 4.84 —
748 g4 T vy RAR 12 10.55 1.3 9.26 -
2% 8.43 1.2 7.24 —
3% 6.03 1.2 4.84 —
#HERTE A Hhiz HET B dhisg
tiEE %1 R dti@E /NS KET
XILBIAEIA : , -
fEREESS | 7 RS = -
% % % %
648 Mt > Ty AARE 12| 11.09 1.6 9.50 —
2% 7.91 1.3 6. 62 —
3% 5.81 1.1 4.72 -
748 g4 T vy RAR 12 10. 39 1.3 9.10 -
2% 7.91 1.3 6. 62 —
3% 5.81 1.1 4.72 —




HEEMDELE

XK=
#HIERTE A hizg ST E L thig
tiEE %1 R At E B F FTET
T HFREIE . s N " "
HEBREZEE S e e = = =
% % % %
658 Mt A > Ty AAR 12 0. 62 1.0 0.33 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 2.15 1.1 1.51 -
2% 0.84 0.9 0.59 —
3% 0.24 0.9 0.09 —
#HIERTE A hisg ST E R thig
tiEE % 1R tiEEERFET
T HGHREIE . s N " "
HEBREZEE S e e = = =
% % % %
658 Mt A > Ty RARE 12 1.40 1.1 0.83 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
#ERTE A hisg ST E R thig
tiEE % 1R JtiEE 1k = REET
X HFREIE . s o e, " "
HEBREZEES e e = = -
% % % %
648 Mt > Ty AARE 12 7.59 1.3 6.30 —
2% 5.45 1.1 4.36 —
3% 4.28 1.0 3.36 —
748 g4 T vy RAR 12 8. 86 1.5 7.37 -
2% 5.81 1.2 4.62 —
3% 4.28 1.0 3.36 —




HEEMDIELE

XK=
#HIERTE A Hhiz HET B ihisg
tigE F1RXE tiEE =T
T HFHREIE [ s o e, " "
HEBREZEE S -~ -~ = = =
% % % %
658 Mt A > Ty AAR 12 2.85 1.1 2.03 —
2% 1.19 1.0 0.80 —
3% 0.27 0.9 0.12 -
748 g4 T vy RAR 12 2.94 1.1 2.10 -
2% 1.19 1.0 0.80 —
3% 0.27 0.9 0.12 —
#HIERTE A Hhiz #HET B thisg
tiEE %1 R JtiEEE BIET
X HGHREIE [ s N " "
HEBREZEES e e = = =
% % % %
658 Mt A > Ty RARE 12 1.40 1.1 0.83 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
#HERTE A Hhiz HET B dhisg
tiEE %1 R JdtigE s LR
X HFREIE [ s N " "
HEBREZEES e e = = =
% % % %
648 Mt > Ty AARE 12 1.40 1.1 0.83 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —




HEEMDELE

XK=
#HIERTE A hizg ST E L thig
tiEE %1 R At i B IR ET
T HFREIE . s N " "
HEBREZEE S e e = = =
% % % %
648 Mt A > Ty AAR 12 1.40 1.1 0.83 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
#HIERTE A hisg ST E R thig
tiEE £1RXE dtiEE P B IR AT
T HGHREIE . s N " "
HEBREZEE S e e = = =
% % % %
648 Mt A > Ty RARE 12 1.40 1.1 0.83 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
#ERTE A hisg ST E R thig
tiEE £1RXE At E rE E ET
X HFREIE . s o e, " "
fEREESS | 7 S = -
% % % %
648 Mt > Ty AARE 12| 1.40 1.1 0.83 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —




HEEMDIELE

K=
EHEFFESA ik et B R Hh s
itiEE £ 1XiE dtiEE K ZEmT
g | osmmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | | BEE BEWER R R
% % % %
6 %8 g4 T v AARK 1E| 10. 37 1.5 8.88 —
2 F| 1.57 1.2 6.38 —
3F| 5.54 1.1 4.45 —
748 i VT vy XA 1% 10. 99 1.5 9.50 -
2F| 7.89 1.3 6. 60 —
3F| 5.54 1.1 4. 45 —
HEFFESA ik et B R dh s
itiEE %1 X At iEE ST
g | osmmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE R EE R R
% % % %
6 %8 g4 T v AARK 1E| 3.29 1.2 2.30 —
2 F| 1.32 1.0 0.90 —
3F| 0.56 0.9 0.36 —
748 i VT vy XA 1% 3.38 1.2 2.38 -
2F| 1.32 1.0 0.90 —
3F| 0.56 0.9 0.36 —
EHEFFESA i et B R dh s
itiEE % 1XiE dtimE LT
B Epx | NS smme | mfpEs | BEES | 8BS
sEpaEn s | | BEE BEMEER R R
% % % %
658 g4 T v AARK 1E| 4.25 1.3 3.00 —
2 F| 1.41 1.1 0.89 —
3F| 0.15 0.9 0.02 —
748 i VT vy XA 1% 3.68 1.2 2.62 -
2F| 1. 67 0.9 1.28 —
3F| 1.19 0.9 0.88 —




HEEMDELE

A=
HEFRE ot hET B g
I %1 R It B HT
D) siEms | s | AEMs | mwEs | mRER | REd
fEREESS | T R . -
% % % %
6% Hulg A Ty AAR 1] 5.13 1.2 4.54 -
2 & 3.68 1.1 2.72 -
3 & 1.64 1.1 1.08 -
74 A VT Yo RAH 18 5.82 1.2 4.63 —
2 3.68 1.1 2.72 -
3 &l 1.64 1.1 1.08 -
HEFRE ot AT B
I % 1R It L AT
D) siEms | s | AEME | mwEs | mRER | EEd
wEREEss | T RS A A
% % % %
6% Hilg A VT vy AAR 1] 6.17 1.2 4.98 -
2 & 3.77 1.2 2.73 -
3 & 1.40 1.0 0.98 -
74 A VT Yo RAK 18 6.23 1.3 4.94 —
2 3.71 1.2 2.73 -
3 &l 1.40 1.0 0.98 -
HEFRE ot hET B
Il %1 R It A AT
D) siEms | s | AEME | mwEs | mRER | mEd
wEREEss | T ek A A
% % % %
6% Hulg A Ty RAAR 1] 3.89 1.2 2.80 -
2 & 1.74 1.0 1.26 -
3 & 1.03 0.9 0.75 -
74 A VT Yo RAK 18 3.35 1.1 2.44 —
2 1.36 1.0 0.94 -
3 &l 0. 60 0.9 0.39 -




HEEMDIELE

A=
HEFRE ot hEt B i
I % 1R Rt )
D) siEms | s | AEME | mwEs | mRER | REd
fEREESS | T R . -
% % % %
6% Hulg A Ty AAR 1] 5.97 1.4 4.58 -
2 & 3.01 1.2 2.07 -
3 & 1.49 1.0 1.05 -
74 A VT Yo RAH 18 5.48 1.3 4.19 —
2 2.98 1.2 2.05 -
3 &l 1.49 1.0 1.05 -
HEFRE ot hEt B i
Il % 1R LmET A DT
BE5 siEms | s | AEME | mewEs | mRER | EEd
wEREEss | T RS A A
% % % %
6% Hilg A VT vy AAR 1] 5.28 1.3 3.99 -
2 & 2.95 1.1 2.1 -
3 & 0.70 1.1 0.31 -
74 A VT Yo RAK 18 5. 67 1.3 4.38 —
2 3.01 1.2 2.09 -
3 &l 0.70 1.1 0.31 -
HEFRE ot hEt B i
I %1 R Itit:8 B A AT
A5 sEms | s | AEEE | mredw | AgEE | Ee
wEREEss | T RS A A
% % % %
6% Hulg A Ty RAAR 1] 6.28 1.3 4.99 -
2 & 3.68 1.2 2.62 -
3 & 1.57 1.0 1.12 -
74 A VT Yo RAK 18 6.35 1.3 5.06 —
2 3.68 1.2 2.62 -
3 &l 1.57 1.0 1.12 -




HEEMDELE

XK=
#HIERTE A hizg ST E L thig
tiEE %1 R Jt @& T He AT
T HFREIE [ s N " "
HEBREZEE S e e = = =
% % % %
648 Mt A > Ty AAR 12 3.23 1.1 2.40 —
2% 2.41 0.9 1.89 —
3% 2.03 0.9 1.57 —
748 g4 T vy RAR 12 3.82 1.1 2.83 -
2% 2.4 0.9 1.89 —
3% 2.03 0.9 1.57 —
#HIERTE A hisg ST E R thig
tiEE % 1R tiEEFTEET
T HGHREIE . s N " "
HEBREZEE S e e = = =
% % % %
648 Mt A > Ty RARE 12 5.17 1.2 3.98 —
2% 3.66 1.0 2.85 —
3% 2.73 1.0 2.08 —
748 g4 T vy RAR 12 5. 26 1.2 4.07 -
2% 3.66 1.0 2.85 —
3% 2.73 1.0 2.08 —
#ERTE A hisg ST E R thig
tiEE % 1R Jt @& T T
X HFREIE . s o e, " "
fEREESS | 7 S = -
% % % %
648 Mt > Ty AARE 12| 5.95 1.5 4. 46 —
2% 3.42 1.1 2.56 —
3% 1.74 1.1 1.17 —
748 g4 T vy RAR 12 6.04 1.5 4.55 -
2% 3.42 1.1 2.56 —
3% 1.74 1.1 1.17 —




HEEMDIELE

XK=
#HIERTE A Hhiz HET B ihisg
tigE F1RXE JtiEE BT
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
658 Hilg A VT vy RA 12 2.64 1.2 1.76 -
2% 0.97 1.0 0. 62 -
3% 0.16 0.9 0.02 -
748 g4 T vy RAR 12 2.73 1.2 1.84 -
2% 0.97 1.0 0. 62 -
3% 0.16 0.9 0.02 -
#HIERTE A Hhiz #HET B thisg
tiEE %1 R dtigEA Y £ 0T
i*l\ﬁﬁyél\gué b 1 he= 41 oy PN
HEBREZEES e e = = =
% % % %
658 Hilg A VT vy RA 12 1.40 1.1 0.83 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
748 g4 T vy RAR 12 1.48 1.1 0. 89 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HERTE A Hhiz HET B dhisg
tiEE %1 R iEEF O = HET
XILBIAEIA : , -
HEBREZEES e e = = =
% % % %
648 Hilg A VT vy RA 12 8.08 1.2 6.89 -
2% 6. 76 1.1 5.67 -
3% 5.56 1.1 4.47 -
748 g4 T vy RAR 12 8.17 1.2 6. 98 -
2% 6.76 1.1 5.67 -
3% 5.56 1.1 4.47 -




HEEMDELE

XK=
#HIERTE A hizg ST E L thig
tiEE %1 R dtiEEE EET
T HFREIE [ s N " "
HEBREZEE S e e = = =
% % % %
658 Mt A > Ty AAR 12 3.82 1.3 264 —
2% 1.41 1.1 0.89 —
3% 0.29 0.9 0.13 -
748 g4 T vy RAR 12 3.72 1.3 2.56 -
2% 1.41 1.1 0.89 -
3% 0.29 0.9 0.13 —
#HIERTE A hisg ST E R thig
tiEE % 1R JtiEE T RET
T HGHREIE . s N " "
HEBREZEE S e e = = =
% % % %
658 Mt A > Ty RARE 12 4.37 1.2 3.19 —
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iﬂ\ﬁﬁ%‘%ﬂé bs 1 he= 1 oy oy
HEBREZEES e e = = =
% % % %
248 Hilg A VT vy RA 12 2.29 1.2 1.47 -
2% 0. 40 0.9 0.22 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 2.29 1.2 1.47 -
2% 0. 40 0.9 0.22 -
3% 0.03 0.9 0.01 -
#IERTE A hisg ST E I thig
tiEE %1 R deiEE/Math
i*l\ﬁﬁyﬁ%“é bs 1 he= 1 oy PN
HEBREZEE S -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE dtiEER) T
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 3.47 1.1 2.60 —
2 F| 2. 01 1.1 1.39 —
3F| 0.67 0.9 0.45 —
3% i VT vy XA 1% 2.90 1.0 2.22 -
2F| 2.00 1.0 1. 47 —
3F| 1.10 0.9 0.80 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE B EEET
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 1.00 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 1.00 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE tiEEIER T
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
#HIERTE A Hhiz HET B ihisg
tiEE F1RXE iEE®HLT
X HFHREIE . s o e, " @
HEBREZEE S e e = = =
% % % %
248 Hilg A VT vy RA 12 0. 65 1.1 0. 21 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.79 1.1 0.32 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A hisg ST E R thig
tiEE %1 R tigEdtR™
i*l\ﬁﬁyél\gué bs 1 he= 1 oy PR
HEBREZEEE -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 3.22 1.1 2.34 -
2% 1.41 1.1 0. 89 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 1.90 1.0 1.39 -
2% 0.87 1.0 0.54 -
3% 0.03 0.9 0.01 -
#HIERTE A Hhiz RET B ihisg
tiEE % 1R tiEEYIR™
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -




HEEHMDELE

TAE
#HIERTE A Hhiz HET B ihisg
tiEE F1RXE iEEsRIRT
X HFHREIE . s o e, " @
HEBREZEE S e e = = =
% % % %
248 Hilg A VT vy RA 12 0.99 1.1 0.55 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A hisg ST E R thig
tiEE F1RXE s EREE™T
i*l\ﬁﬁyél\gué bs 1 he= 1 oy PR
HEBREZEEE -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 1.29 1.0 0.89 -
2% 0.58 0.9 0.37 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 1.08 0.9 0.79 -
2% 0.58 0.9 0.37 -
3% 0.03 0.9 0.01 -
#HIERTE A Hhiz RET B ihisg
tiEE % 1R iEEEeE™T
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE %1 tiEEE /N
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 4.70 1.1 3.61 —
2 F| 3.33 1.0 2.58 —
3F| 2.35 1.0 1.76 —
3% i VT vy XA 1% 5. 44 1.2 4.25 -
2F| 3.33 1.0 2.58 —
3F| 2.35 1.0 1.76 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE tEEHAT
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 2.91 1.2 1.99 —
2 F| 1.08 0.9 0.79 —
3F| 0.51 0.9 0. 31 —
3% i VT vy XA 1% 2.91 1.2 1.99 -
2F| 1.08 0.9 0.79 —
3F| 0.51 0.9 0.31 —
EHEFFESA ik et B R Hh s
itiEE %1 X dtiEEER™
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
#HIERTE A Hhiz HET B ihisg
tiEE % 1R iEESERI™
X HFHREIE . s o e, " @
HEBREZEE S e e = = =
% % % %
248 Hilg A VT vy RA 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A hisg ST E R thig
tiEE %1 R dtEEIRIT
i*l\ﬁﬁyél\gué bs 1 he= 1 oy PR
HEBREZEEE -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 3.55 1.1 2.61 -
2% 1.79 1.1 1.21 -
3% 0. 41 0.9 0.23 -
3% g4 T vy RAR 12 3.65 1.1 2.69 -
2% 1.91 1.1 1.31 -
3% 0. 41 0.9 0.23 -
#HIERTE A Hhiz RET B ihisg
tiEE % 1R iEERFEH
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 2.06 1.1 1.37 -
2% 0.70 0.9 0. 47 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 2.06 1.1 1.37 -
2% 0.70 0.9 0. 47 -
3% 0.03 0.9 0.01 -




HEEHMDELE

TAE
MERFRA iz e E Ao his
dtiEE £ 1RXig AL ERAIT
D) sEmm | e e | GEnEE | AR i
HFRELEEE e 5 = - e e
% % % %
248 i1 2T vy RAR 1% 3.01 1.2 2.07 -
2% 1.28 1.0 0.88 —
3% 0. 60 0.9 0.39 —
34F g4 VT vy AAR 1% 7.31 1.5 5. 82 -
2% 4.43 1.2 3.25 —
3% 2.67 1.1 1.94 —
EMERFRA Hh iz HiET B I i
tiEE £ 1RXig dEEL AT
A5 sEms | oen | AEE® | mredw | AgES | fEe
HFRELEEE S e e e
% % % %
248 i1 o F vy RAR 1% 3.67 1.1 2.75 -
2% 2.21 1.1 1.56 —
3% 0.68 1.0 0.38 —
34F g4 T vy ZAR 1% 3.83 1.1 2.88 -
2% 2.39 1.1 1.71 —
3% 0.88 1.0 0.55 —
EERFRA iz METE Ao his
tiEE £ 1RXig tEELFM
5 sEms | e | AEEE | mredw | AgEA | Ee
HFRELEEE S e e e
% % % %
248 i1 2T vy RAR 1% 3.29 1.1 2.45 -
2% 2.09 1.0 1.55 —
3% 1.17 0.9 0.86 —
34F g4 VT vy ZAR 1% 3.26 1.1 2.43 -
2% 2.06 1.0 1.52 —
3% 1.17 0.9 0. 86 —




HEEHMDELE

TAE
#HIERTE A Hhiz HET B ihisg
tiEE % 1R BE=%mH
X HFHREIE . s o e, " @
HEBREZEE S e e = = =
% % % %
248 Hilg A VT vy RA 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A hisg ST E R thig
tiEE %1 R iEEREM
i*l\ﬁﬁyél\gué bs 1 he= 1 oy PR
HEBREZEEE -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A Hhiz RET B ihisg
tiEE % 1R TiEEFHET
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 1.99 1.4 1.04 -
2% 0.16 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 1.76 1.3 0.99 -
2% 0.16 0.9 0.02 -
3% 0.03 0.9 0.01 -




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE %1 dtiEEE)™
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 4.73 1.2 3.54 —
2 F| 2. 71 1.1 1.97 —
3F| 1.39 1.0 0.97 —
3% i VT vy XA 1% 4.73 1.2 3.54 -
2F| 2.1 1.1 1.97 —
3F| 1.39 1.0 0.97 —
EHEFFESA Hh g HET B ihisg
tiEE %1 X dtEER )T
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE EEFERT
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE %1 tEEEI™
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 1.04 1.1 0.53 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.88 1.1 0. 40 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE %1 X TiEEERE™
B T R 1 R
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 2.76 1.1 1.95 —
2 F| 1.29 0.9 0.96 —
3F| 0.75 0.9 0.51 —
3% i VT vy XA 1% 3.22 1.1 2.34 -
2F| 1.76 1.0 1.28 —
3F| 0.75 0.9 0.51 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE tEEERTH
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
#HIERTE A Hhiz HET B ihisg
tiEE % 1R iEEEET
X HFHREIE . s o e, " @
HEBREZEE S e e = = =
% % % %
248 Hilg A VT vy RA 12 2.07 1.1 1.38 -
2% 0. 62 1.0 0.33 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 2.07 1.1 1.38 -
2% 0. 62 1.0 0.33 -
3% 0.03 0.9 0.01 -
#HIERTE A hisg ST E R thig
tiEE %1 R tiEEFER
i*l\ﬁﬁyél\gué bs 1 he= 1 oy PR
HEBREZEEE -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 2.42 1.2 1.60 -
2% 0. 64 1.0 0.38 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 2.38 1.2 1.60 -
2% 0.64 1.0 0.38 -
3% 0.03 0.9 0.01 -
#HIERTE A Hhiz RET B ihisg
tiEE % 1R igEdLET
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 1.75 1.1 1.12 -
2% 0.35 0.9 0.18 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 1.75 1.1 1.12 -
2% 0.35 0.9 0.18 -
3% 0.03 0.9 0.01 -




HEEHMDELE

ThE
HE TR L Hhizh B4 s
i % 1R timEERH
X4 BIE AR Bt Ahns | Atmar | BREM i
HERERRS e e o -
% % % %
2% i/ Ty o XAR 1E| 6.32 1.3 5.03 —
2% 4.19 1.1 3.14 —
3Z| 2.18 1.0 1.61 -
34F it A Ty RAR 1% 6. 31 1.3 5.02 —
2 E| 4.19 1.1 3.14 -
3E| 2.18 1.0 1. 61 —
HERFE L 3 354 W E B o
i % 1R dimEde s
A5 sEms | oen | AEE® | mredw | AgES | fEe
HFRELED S G mEIREE e e
% % % %
248 g4 Ty o XAR 1E| 0.95 1.1 0.51 —
2% 0.05 0.9 0.02 —
3Z| 0.03 0.9 0.01 -
34F it A Ty RAR 1% 0.95 1.1 0.51 —
2 E| 0.05 0.9 0.02 -
3E| 0.03 0.9 0.01 —
HRE TR L Hhi2f B 4 s
i % 1R At 3538 24 7 BT
5 sEms | e | AEEE | mredw | AgEA | Ee
HFRELED S G Galabiny e e
% % % %
248 g4 Ty o XAR 1E| 3.72 1.1 2.80 —
2% 2.23 1.0 1.66 —
3Z| 1.1 1.0 0.74 -
34F g4 Ty RARK 1% 3.71 1.1 2.79 —
2 E| 2.22 1.0 1. 66 -
3E| 1.09 1.0 0.72 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE %1 tiEE RN
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE dtEE A RiTET
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE %1 X tiEEESE
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
#HIERTE A Hhiz HET B ihisg
tiEE % 1R JtiEE &N A ET
X HFHREIE . s o e, " @
HEBREZEE S e e = = =
% % % %
248 Hilg A VT vy RA 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A hisg ST E R thig
tiEE %1 R JtiEE AR & RET
i*l\ﬁﬁyél\gué bs 1 he= 1 oy PR
HEBREZEEE -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A Hhiz RET B ihisg
tiEE % 1R JtiEE AR ET
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 2.86 1.2 1.95 -
2% 0. 86 1.0 0.53 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 2.86 1.2 1.95 -
2% 0. 86 1.0 0.53 -
3% 0.03 0.9 0.01 -




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE %1 dtEE AR AT
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE %1 X JtiEE AT
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.66 1.0 0.36 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.66 1.0 0.36 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE JtiEE /\ERT
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 3.39 1.2 2.42 —
2 F| 1.99 1.0 1.47 —
3F| 0.83 1.0 0.51 —
3% i VT vy XA 1% 3.70 1.2 2.67 -
2F| 1.99 1.0 1. 47 —
3F| 0.83 1.0 0.51 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE JtiEE K A ERET
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 2.58 1.1 1. 81 —
2 F| 1.28 0.9 0.95 —
3F| 0.74 0.9 0.51 —
3% i VT vy XA 1% 2.58 1.1 1.81 -
2F| 1.28 0.9 0.95 —
3F| 0.74 0.9 0.51 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE dbiEE T Em
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 2.87 1.2 1.95 —
2 F| 1.24 0.9 0.92 —
3F| 0.69 0.9 0.46 —
3% i VT vy XA 1% 2.87 1.2 1.95 -
2F| 1.24 0.9 0.92 —
3F| 0.69 0.9 0.46 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE itiEE L/ EET
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAR
HERFRE o T
it % 1K 3t 38 R AR AT
D) siEms | s | AEME | mwEs | mRER | Bl
HERERRS e e o -
% % % %
2% Hulg A Ty AAR 1 &l 4.01 1.2 2.90 -
2 & 2.85 1.0 2.18 -
3 & 1. 81 1.0 1.32 —
34 A VT Yo RAH 18 3.7 1.2 2.69 —
2 2.58 1.0 1.95 -
3 &l 1.51 1.0 1.07 -
HERFRA ot it E
it %1 KK 3t 3838 Z. ERET
D) siEms | s | AEME | mwEs | mRER | EEd
HERERRS e mEREE = =
% % % %
2% Hilg A VT vy AAR 1 &l 4.54 1.2 3.35 -
2 & 2.51 1.1 1. 81 -
3 & 1.19 1.0 0.80 —
34 A VT Yo RAK 18 4.54 1.2 3.35 —
2 2.51 1.1 1.81 -
3 &l 1.19 1.0 0.80 -
HERFRA i T B
it %1 KK At 8 R BT
5 sEms | e | AEEE | mredw | AgEA | Ee
HERERRS e mEREE = =
% % % %
2% Hulg A Ty RAAR 1 &l 0.95 1.1 0.51 -
2 & 0.05 0.9 0.02 -
3 & 0.03 0.9 0.01 —
34 A VT Yo RAK 18 0.95 1.1 0. 51 —
2 0.05 0.9 0.02 -
3 &l 0.03 0.9 0.01 -




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE tiEES £
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 2.34 1.1 1.64 —
2 F| 1.1 1.0 0.74 —
3F| 0.39 0.9 0.22 —
3% i VT vy XA 1% 1.86 1.1 1.24 -
2F| 0. 41 1.0 0.16 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE dtiEEE =4
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 4.40 1.1 3.31 —
2 F| 2.43 1.1 1.68 —
3F| 0.96 1.0 0. 61 —
3% i VT vy XA 1% 4.08 1.2 2.96 -
2F| 1.94 1.1 1.28 —
3F| 0.58 0.9 0.37 —
EHEFFESA ik et B R Hh s
itiEE %1 X itiEE B Ft
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE %1 dtiE & F ERET
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 3. 66 1.1 2.70 —
2 F| 2.49 0.9 1.95 —
3F| 2.12 0.9 1.65 —
3% i VT vy XA 1% 3.66 1.1 2.70 -
2F| 2.49 0.9 1.95 —
3F| 2.12 0.9 1.65 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE JtiEE E X RET
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 7.00 1.3 5.1 —
2 F| 5.29 1.1 4.20 —
3F| 3.88 1.1 2.94 —
3% i VT vy XA 1% 8. 68 1.5 7.19 -
2F| 6.50 1.1 5.41 —
3F| 4.55 1.1 3.46 —
EHEFFESA ik et B R Hh s
itiEE %1 X At E v A AT
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 1.62 1.1 1.07 —
2 F| 0.37 0.9 0.20 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 1.67 1.0 1.20 -
2F| 0.84 0.9 0.59 —
3F| 0.23 0.9 0.08 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE dtiEE=—tal
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 2. 77 1.1 1.96 —
2 F| 1.42 1.0 0.99 —
3F| 0.51 0.9 0. 31 —
3% i VT vy XA 1% 4.51 1.2 3.32 -
2F| 2.55 1.1 1.84 —
3F| 1.07 1.0 0.70 —
EHEFFESA Hh g HET B ihisg
tiEE %1 X tEEERH
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 1.30 1.1 0.75 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 1.50 1.1 0.91 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE %1 X JtiEE R F &R AT
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.72 1.0 0.37 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0. 91 1.0 0.53 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
#HIERTE A Hhiz HET B ihisg
tiEE F1RXE tiEEE 5 BIET
X HFHREIE [ s o e, " "
HEBREZEE S e e = = =
% % % %
248 Mt A > Ty AAR 12 1.62 1.1 1.03 —
2% 0.27 0.9 0.12 —
3% 0.03 0.9 0.01 —
3% g4 T vy RAR 12 2.29 1.2 1.50 -
2% 0.30 1.0 0.12 —
3% 0.03 0.9 0.01 —
#HIERTE A hisg ST E R thig
tiEE F1RXE At i A ET
X HGREIE [ s o e, " "
HEBREZEEE -~ -~ = = =
% % % %
248 Mt A > Ty RARE 12 1.89 1.1 1.23 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 1.87 1.1 1.22 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
#HIERTE A Hhiz RET B ihisg
tiEE % 1R dtiEEE T
T HEFHREIE [ s e, " "
HEBREZEE S -~ -~ = = =
% % % %
248 Mt > Ty AARE 12 2.61 1.1 1.89 —
2% 1.05 1.0 0. 69 —
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 2.73 1.1 1.93 -
2% 1.05 1.0 0. 69 —
3% 0.03 0.9 0.01 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE At N mT
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 2.16 1.1 1.52 —
2 F| 0.98 1.0 0.63 —
3F| 0.16 0.9 0.02 —
3% i VT vy XA 1% 3.26 1.1 2.43 -
2F| 1.78 1.1 1.20 —
3F| 0.34 1.0 0.10 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE dtiEE S N ET
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 3.93 1.2 2.83 —
2 F| 2.04 1.0 1.51 —
3F| 0.88 1.0 0.55 —
3% i VT vy XA 1% 3.93 1.2 2.83 -
2F| 2.04 1.0 1.51 —
3F| 0.88 1.0 0.55 —
EHEFFESA ik et B R Hh s
itiEE %1 X JtiEEAe
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 2.30 1.1 1.57 —
2 F| 0.96 0.9 0.69 —
3F| 0.37 0.9 0.20 —
3% i VT vy XA 1% 2.30 1.1 1.57 -
2F| 0.96 0.9 0.69 —
3F| 0.37 0.9 0.20 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE %1 JtiEE M E R
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE %1 X i@ EFE T
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE dtiEE Tt S HT
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
#HIERTE A Hhiz HET B ihisg
tiEE % 1R JtiEE{— KRHET
X HFHREIE [ s o e, " "
HEBREZEE S e e = = =
% % % %
248 Mt A > Ty AAR 12 0.95 1.1 0.51 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
#HIERTE A hisg ST E R thig
tiEE %1 R dtiEERTET
i*l\ﬁﬁyél\gué bs 1 he= 1 oy PR
fEREESS | 7 e - "
% % % %
248 Mt A > Ty RARE 12 0.95 1.1 0.51 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
#HIERTE A Hhiz RET B ihisg
tiEE £1RXE iEERFINIA
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
248 Mt > Ty AARE 12 4.48 1.2 3.29 —
2% 2.79 1.0 2.13 —
3% 2.25 0.9 1.76 -
3% g4 T vy RAR 12 4.48 1.2 3.29 -
2% 2.79 1.0 2.13 —
3% 2.25 0.9 1.76 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE %1 JtiEErm RET
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 4.20 1.2 3.1 —
2 F| 2.37 1.1 1.69 —
3F| 0.76 1.0 0.45 —
3% i VT vy XA 1% 2.82 1.1 2.06 -
2F| 1.43 1.0 1.00 —
3F| 0.42 0.9 0.24 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE AtiEE S TR
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE JtiEE LRI ET
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAR
HERFRE o T
it % 1K it e = BT
D) siEms | s | AEME | mwEs | mRER | Bl
HERERRS e e o -
% % % %
2% Hulg A Ty AAR 1 &l 3.53 1.3 2.40 -
2 & 1.15 1.0 0.77 -
3 & 0.31 0.9 0.15 —
34 A VT Yo RAH 18 3.59 1.3 2.45 —
2 1.15 1.0 0.77 -
3 &l 0.31 0.9 0.15 -
HERFRA ot it E
it %1 KK it E R BT
D) siEms | s | AEME | mwEs | mRER | EEd
HERERRS e mEREE = =
% % % %
2% Hilg A VT vy AAR 1 &l 4.20 1.3 2.96 -
2 & 1.74 1.1 1.17 -
3 & 0.55 0.9 0.35 —
34 A VT Yo RAK 18 4.20 1.3 2.96 —
2 1.74 1.1 1.17 -
3 &l 0.55 0.9 0.35 -
HERFRA i T B
it %1 KK AL E F AT
5 sEms | e | AEEE | mredw | AgEA | Ee
HERERRS e mEREE = =
% % % %
2% Hulg A Ty RAAR 1 &l 4.95 1.5 3.46 -
2 & 2.07 1.0 1.53 -
3 & 1.49 0.9 1.13 —
34 A VT Yo RAK 18 5.70 1.4 4.31 —
2 2.89 1.1 2.12 -
3 &l 1.68 1.0 1.21 -




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE JtiEE A R2HT
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE bl &S h =)
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE dtEEE 2] BT
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE %1 AtiEE RS A0
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 3.39 1.1 2.48 —
2 F| 2.19 0.9 1.1 —
3F| 1.78 0.9 1.37 —
3% i VT vy XA 1% 3.39 1.1 2.48 -
2F| 2.19 0.9 1.7 —
3F| 1.78 0.9 1.37 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE At 38 # AL I AT
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE tiEErRERT
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE JtiEE AL EmT
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 3.93 1.3 2.73 —
2 F| 1.72 0.9 1.32 —
3F| 1.23 0.9 0.91 —
3% i VT vy XA 1% 3.93 1.3 2.73 -
2F| 1.72 0.9 1.32 —
3F| 1.23 0.9 0.91 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE dtEE ;E HET
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 3.89 1.3 2.70 —
2 F| 1.40 1.0 0.97 —
3F| 0.66 0.9 0.44 —
3% i VT vy XA 1% 3.71 1.3 2.55 -
2F| 1.39 1.0 0.97 —
3F| 0. 66 0.9 0.44 —
EHEFFESA ik et B R Hh s
itiEE %1 X Jt i@ & fE A T
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE %1 At 35 & B AT
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 1.68 1.1 1.12 —
2 F| 0.87 0.9 0. 61 —
3F| 0.27 0.9 0.12 —
3% i VT vy XA 1% 2.37 1.1 1.69 -
2F| 1. 11 1.0 0.74 —
3F| 0.27 0.9 0.12 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE At iEE X FRET
B T R 1 R
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 4.91 1.2 3.72 —
2 F| 3.18 1.1 2.36 —
3F| 1.86 0.9 1.43 —
3% i VT vy XA 1% 6.17 1.2 4.98 -
2F| 4.18 1.1 3.13 —
3F| 2. 31 1.0 1.73 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE JtiEE th A i
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 3.75 1.1 2.77 —
2 F| 2.59 0.9 2.04 —
3F| 2.23 0.9 1.74 —
3% i VT vy XA 1% 3.75 1.1 2.77 -
2F| 2.59 0.9 2.04 —
3F| 2.23 0.9 1.74 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE At ;58 = R BT
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 3.19 1.1 2.31 —
2 F| 1.96 0.9 1.52 —
3F| 1.51 0.9 1.14 —
3% i VT vy XA 1% 3.19 1.1 2.31 -
2F| 1.96 0.9 1.52 —
3F| 1.51 0.9 1.14 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE JdbiEE b )IET
B T R 1 R
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 1.22 1.1 0.74 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 1.22 1.1 0.74 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE %1 X JtiEE I /T
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAR
HERFRE o T
it % 1K LB E BT
D) siEms | s | AEME | mwEs | mRER | Bl
HERERRS e e o -
% % % %
2% Hulg A Ty AAR 1 &l 3.50 1.1 2.62 -
2 & 2.02 1.1 1.42 -
3 & 0.86 0.9 0. 60 —
34 A VT Yo RAH 18 3.14 1.1 2.33 —
2 1.62 1.1 1.09 -
3 &l 0.40 0.9 0.22 -
HERFRA ot it E
it %1 KK L8 RERAT
D) siEms | s | AEME | mwEs | mRER | EEd
HERERRS e mEREE = =
% % % %
2% Hilg A VT vy AAR 1 &l 5.81 1.1 4.72 -
2 & 4.52 1.1 3.417 -
3 & 3.01 1.0 2.31 —
34 A VT Yo RAK 18 5. 59 1.1 4.50 —
2 4.21 1.1 3.26 -
3 &l 2.13 1.0 2.08 -
HERFRA i T B
it %1 KK 3L IR
5 sEms | e | AEEE | mredw | AgEA | Ee
HERERRS e mEREE = =
% % % %
2% Hulg A Ty RAAR 1 &l 4.12 1.1 3.14 -
2 & 2.70 1.0 2.04 -
3 & 1. 61 1.0 1.15 —
34 A VT Yo RAK 18 3.82 1.1 2.89 —
2 2.35 1.0 1.75 -
3 &l .2 1.0 0.84 -




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE tiEEm = BEPET
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 3.08 1.1 2.22 —
2 F| 1.67 1.0 1.20 —
3F| 0.46 1.0 0.20 —
3% i VT vy XA 1% 4.51 1.2 3.32 -
2F| 2.61 1.1 1.89 —
3F| 0.81 1.1 0.40 —
EHEFFESA Hh g HET B ihisg
tiEE %1 X JtiEE G E A
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 1.82 1.2 1.08 —
2 F| 0.30 0.9 0.14 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 1.82 1.2 1.08 -
2F| 0.30 0.9 0.14 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE JtiEEFNZEmT
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 2.43 1.1 1.74 —
2 F| 1.03 1.0 0.67 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 2.64 1.1 1.91 -
2F| 1.21 1.0 0.87 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
MERFRA iz e E Ao his
dtiEE £ 1RXig At B B &1 i BT
D) siEms | s | AEME | mwEs | mRER | Bl
HFRELEEE e mEIRES e e
% % % %
248 i1 2T vy RAR 1 %) 3.15 1.1 2.32 -
2% 2.1 1.0 1.57 —
3% 0.94 1.0 0.65 -
34F g4 VT vy AAR 1% 2.95 1.1 2.15 -
2% 1.89 1.0 1.38 —
3% 0.92 0.9 0.65 —
EMERFRA Hh iz HiET B I i
tiEE £ 1RXig AL E T I ET
A5 sEms | oen | AEE® | mredw | AgES | fEe
HFRELEEE S mERES e e
% % % %
248 i1 o F vy RAR 1 %) 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
34F g4 T vy ZAR 1% 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —
EERFRA iz METE Ao his
tiEE F1RE &S EE 32
=5 SEpt | o | swme | meoEs | mEEE | ERM
R IR EEAEE] S FAER FTEWEE HptE Rt
% % % %
248 i1 2T vy RAR 1 %) 1.80 1.0 1.31 -
2% 0.76 1.0 0.45 —
3% 0.03 0.9 0.01 -
34F g4 VT vy ZAR 1% 1.50 1.0 1.06 -
2% 0.58 0.9 0.37 —
3% 0.03 0.9 0.01 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE %1 tiEEE B F A
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 1.76 1.1 1.18 —
2 F| 0.47 1.0 0.21 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 1.76 1.1 1.18 -
2F| 0.47 1.0 0.21 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE dtimE eI BT
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 1.53 1.1 0.99 —
2 F| 0.36 0.9 0.19 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 1.53 1.1 0.99 -
2F| 0. 36 0.9 0.19 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE JtiEE R AN R ET
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 3.34 1.1 2.43 —
2 F| 2.14 0.9 1.66 —
3F| 1.1 0.9 1. 31 —
3% i VT vy XA 1% 3.34 1.1 2.43 -
2F| 2.14 0.9 1.66 —
3F| 1.7 0.9 1.31 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE dtiEE s E M
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE dtEE /N HT
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE %1 X JtiEE ERiTET
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 3.7 1.1 2.80 —
2 F| 2.27 1.1 1.61 —
3F| 0.62 0.9 0. 41 —
3% i VT vy XA 1% 4.46 1.1 3.37 -
2F| 2.49 1.1 1.73 —
3F| 0.62 0.9 0.41 —




HEEHMDELE

TAR
HERFRE o T
it % 1K 3t 3338 TR AT
D) siEms | s | AEME | mwEs | mRER | Bl
HERERRS e e o -
% % % %
2% Hulg A Ty AAR 1 &l 2.64 1.1 1.85 -
2 & 1.34 0.9 1.00 -
3 & 0.81 0.9 0.56 —
34 A VT Yo RAH 18 2.64 1.1 1.85 —
2 1.34 0.9 1.00 -
3 &l 0. 81 0.9 0.56 -
HERFRA ot it E
it %1 KK JLEE LB
D) siEms | s | AEME | mwEs | mRER | EEd
HERERRS e mEREE = =
% % % %
2% Hilg A VT vy AAR 1 &l 3.81 1.2 2.73 -
2 & 2.08 1.1 1.45 -
3 & 0.48 1.0 0.22 —
34 A VT Yo RAK 18 4.40 1.2 3.22 —
2 2.20 1.1 1.49 -
3 &l 0.33 0.9 0.17 -
HERFRA i T B
it %1 KK At ¥ B BT
5 sEms | e | AEEE | mredw | AgEA | Ee
HERERRS e mEREE = =
% % % %
2% Hulg A Ty RAAR 1 &l 4.56 1.3 3.21 -
2 & 1.85 1.2 1.11 -
3 & 0.20 0.9 0. 06 —
34 A VT Yo RAK 18 5.29 1.3 4.00 —
2 2.75 1.1 1.95 -
3 &l 1.01 0.9 0.73 -




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE JtiEE X IG T
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE %1 X AtiEEIRILA
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE At & = 1 I AT
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE At ;& o i I AT
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE %1 X dtimE R =0T
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE %1 X dtiEEESHT
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE At ;& %L SCHT
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE At & F 7 T
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE %1 X tEEFIRE TR
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

AR
WERRE i et B i
tEE %159 AR
L 5| A
N - IBIEHE | srme | memEw | SRR RN
= % wxprEns | PEE | BEREE | ER® e
% % % %
2% A Ty RAAR 18| 0.95 1.1 0.51 -
23 0.05 0.9 0.02 -
3 & 0.03 0.9 0.01 -
3% g4 > Ty o RAR 1 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3E| 0.03 0.9 0.01 -
BERRE i it Bt
tmE %159 538 AT
L | A
. S IRBIEHE | srme | memEw | SRR RIEH
= = wxprEns | EEE pEnEE | AR e
% % % %
2% A Ty RAAR 18| 0.44 1.0 0.18 -
23 0.05 0.9 0.02 -
3 & 0.03 0.9 0.01 -
3% g4 > T v o RAR 1 0.27 1.0 0.07 -
2% 0.05 0.9 0.02 -
3E| 0.03 0.9 0.01 -
WERRE i et B i
tmE %159 SRR
L | A
N S TIBEHE | spmme | mewan | BRBH R
= % wxprEns | EEE pEWEE | AR e
% % % %
2% iAo Ty RAAR 18| 0.99 1.0 0. 64 -
2%E| 0.24 0.9 0.09 -
3 & 0.03 0.9 0.01 -
3% g4 > Ty o RAR 1 1.01 1.0 0. 62 -
2% 0.24 0.9 0.09 -
3E| 0.03 0.9 0.01 -




HEEHMDELE

AR
HERRE i et B i
TtmiE %158 BB ET
L 5| A
N - IBIEHE | srme | memEw | SRR RN
= % wxprEns | PEE | BEREE | ER® Bt
% % % %
2% A Ty AARX 18| 0.64 1.0 0.35 -
23 0.05 0.9 0.02 -
3 & 0.03 0.9 0.01 -
3% g4 > Ty o RAR 1 0.43 0.9 0.25 -
2% 0.05 0.9 0.02 -
3E| 0.03 0.9 0.01 -
BHERRE i et Bl
TtmiE %159 CEEA R
L | A
. S IRBIEHE | srme | memEw | SRR RIEH
= = wxprEns | PEE | BEREE | ERE Bt
% % % %
2% A Ty AARX 18| 0.52 1.0 0.25 -
23 0.05 0.9 0.02 -
3 & 0.03 0.9 0.01 -
3% g4 > T v o RAR 1 0.31 0.9 0.15 -
2% 0.05 0.9 0.02 -
3E| 0.03 0.9 0.01 -
HERRE i et B i
s %154 I NE KR
L | A
N S IBIEHE | srme | memEw | SRR RN
= % wxprEns | PEE | BEREE | ER® Bt
% % % %
2% A Ty AARX 18| 0.61 1.1 0.23 -
23 0.05 0.9 0.02 -
3 & 0.03 0.9 0.01 -
3% g4 > Ty o RAR 1 0.23 0.9 0.08 -
2% 0.05 0.9 0.02 -
3E| 0.03 0.9 0.01 -




HEEHMDELE

AR
HERRE i et B i
TtmiE %158 BT AT
L 5| A
N - IBIEHE | srme | memEw | SRR RN
= = wxprEns | PEE | BEREE | ER® Bt
% % % %
2% A Ty AARX 18| 0.67 1.0 0.37 -
23 0.05 0.9 0.02 -
3 & 0.03 0.9 0.01 -
3% g4 > Ty o RAR 1 1.21 1.1 0.73 -
2% 0.05 0.9 0.02 -
3E| 0.03 0.9 0.01 -
BHERRE i et Bl
TtmiE %159 EEE F T
L | A
. S IRBIEHE | srme | memEw | SRR RIEH
= % wxprEns | PEE | BEREE | ERE Bt
% % % %
2% A Ty AARX 18| 1.41 1.1 0.89 -
23 0.38 0.9 0.21 -
3 & 0.03 0.9 0.01 -
3% g4 > T v o RAR 1 2.71 1.1 1.91 -
2% 0.86 1.0 0.53 -
3E| 0.03 0.9 0.01 -
HERRE i et B i
s %154 e 2 AT
L | A
N S IBIEHE | srme | memEw | SRR RN
= % wxprEns | PEE | BEREE | ER® Bt
% % % %
2% A Ty AARX 18| 2.03 1.1 1.39 -
23 0.95 0.9 0.68 -
3 & 0. 36 0.9 0.19 -
3% g4 > Ty o RAR 1 3.06 1.1 2.24 -
2% 1.72 1.0 1.24 -
3E| 0.52 1.0 0.25 -




HEEHMDELE

TAE
#HIERTE A Hhiz HET B ihisg
tiEE F1RXE tiEE =T
X HFHREIE [ s o e, " "
HEBREZEE S e e = = =
% % % %
248 Mt A > Ty AAR 12 0.99 1.1 0.53 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 1.58 1.2 0.94 -
2% 0.11 0.9 0.02 —
3% 0.03 0.9 0.01 —
#HIERTE A hisg ST E R thig
tiEE %1 R JtiEEE BIET
X HGREIE [ s o e, " "
HEBREZEEE -~ -~ = = =
% % % %
248 Mt A > Ty RARE 12 1.50 1.1 0.93 —
2% 0.26 0.9 0.11 —
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 2.83 1.1 2.03 -
2% 1.37 1.0 0.95 —
3% 0. 60 0.9 0.39 —
#HIERTE A Hhiz RET B ihisg
tiEE % 1R dtigE s LR
T HEFHREIE [ s e, " "
HEBREZEE S -~ -~ = = =
% % % %
248 Mt > Ty AARE 12 0.42 1.0 0.17 —
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.85 1.1 0.43 -
2% 0.05 0.9 0.02 —
3% 0.03 0.9 0.01 —




HEEHMDELE

TAE
#HIERTE A Hhiz HET B ihisg
tiEE % 1R Jt @& EERET
X HFHREIE . s o e, " @
HEBREZEE S e e = = =
% % % %
248 Hilg A VT vy RA 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A hisg ST E R thig
tiEE F1RXE At E P B IR AT
i*l\ﬁﬁyél\gué bs 1 he= 1 oy PR
HEBREZEEE -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A Hhiz RET B ihisg
tiEE £1RXE dtiEE i E T
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 2.07 1.1 1.38 -
2% 0.71 0.9 0.48 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 2.07 1.1 1.38 -
2% 0.71 0.9 0.48 -
3% 0.03 0.9 0.01 -




HEEHMDELE

TAE
#HIERTE A Hhiz HET B ihisg
tiEE % 1R JtiEE K ZEmT
X HFHREIE . s o e, " @
HEBREZEE S e e = = =
% % % %
248 Hilg A VT vy RA 12 0. 69 1.0 0.39 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.56 0.9 0. 36 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A hisg ST E R thig
tiEE F1RXE dtiEE 2 HET
i*l\ﬁﬁyél\gué bs 1 he= 1 oy PR
HEBREZEEE -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 1.83 1.0 1.32 -
2% 1.16 0.9 0. 85 -
3% 0. 60 0.9 0.39 -
3% g4 T vy RAR 12 1.91 1.0 1.38 -
2% 1.16 0.9 0.85 -
3% 0. 60 0.9 0. 39 -
#HIERTE A Hhiz RET B ihisg
tiEE % 1R dtiEE It B ET
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 3.13 1.3 2.07 -
2% 1.55 1.0 1.10 -
3% 0.82 0.9 0.57 -
3% g4 T vy RAR 12 3.13 1.3 2.07 -
2% 1.55 1.0 1.10 -
3% 0.82 0.9 0.57 -




HEEHMDELE

TAE
#HIERTE A Hhiz HET B ihisg
tiEE F1RXE bl SEI=E )
X HFHREIE . s o e, " @
HEBREZEE S e e = = =
% % % %
248 Hilg A VT vy RA 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 0.95 1.1 0.51 -
2% 0.05 0.9 0.02 -
3% 0.03 0.9 0.01 -
#HIERTE A hisg ST E R thig
tiEE %1 R tiEEEER
i*l\ﬁﬁyél\gué bs 1 he= 1 oy PR
HEBREZEEE -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 3.00 1.2 2.06 -
2% 0.82 1.1 0.42 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 2.99 1.2 2.05 -
2% 0.82 1.1 0.42 -
3% 0.03 0.9 0.01 -
#HIERTE A Hhiz RET B ihisg
tiEE % 1R At i8R 2R I ET
i*l\ﬁﬁyﬁ%“é b 1 he= 1 oy oy
HEBREZEE S -~ -~ = = =
% % % %
248 Hilg A VT vy RA 12 1.90 1.1 1.24 -
2% 0.59 0.9 0.38 -
3% 0.03 0.9 0.01 -
3% g4 T vy RAR 12 1.88 1.2 1.18 -
2% 0.59 0.9 0.38 -
3% 0.03 0.9 0.01 -




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE At iEE = S HT
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 3.77 1.4 2.53 —
2 F| 0.78 1.1 0.31 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 3.49 1.3 2.39 -
2F| 0.78 1.1 0.31 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE tEET hio T
B T R 1 R
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 5.84 1.3 4.55 —
2 F| 2.79 1.3 1.79 —
3F| 0.21 0.9 0.07 —
3% i VT vy XA 1% 5.86 1.3 4.57 -
2F| 2.81 1.3 1. 81 —
3F| 0.24 0.9 0.09 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE bl &SR ==Y
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 3.33 1.2 2.34 —
2 F| 1.43 1.0 1.00 —
3F| 0.19 0.9 0.05 —
3% i VT vy XA 1% 4.07 1.2 2.95 -
2F| 1.89 1.1 1.29 —
3F| 0.19 0.9 0.05 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE % 1XiE At ;& = ER T
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 4.14 1.2 3.01 —
2 F| 2.12 1.1 1.48 —
3F| 0.82 0.9 0.57 —
3% i VT vy XA 1% 6.76 1.3 5.47 -
2F| 4. 41 1.1 3.32 —
3F| 2.75 1.0 2.09 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE dtiEEE R AT
B T R 1 R
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE At ;& 5 AT AT
B sEpx | NS smme | mfpEs | BEES | BB
sEpamEn s | | BEE BEWEE R R
% % % %
2%8 g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —




HEEHMDELE

TAE
EHEFFESA i et B R dh s
itiEE %1 At EE Rk LT
g | osmmx | 0 | e | AemEs | mEES | EEs
sEpamEn s | | BEE BEWER EpE R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA Hh g HET B ihisg
tiEE % 1XiE tiEEZ Y £
g | smmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE B EE R R
% % % %
2% g4 T v AARK 1E| 0.95 1.1 0.51 —
2 F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
3% i VT vy XA 1% 0.95 1.1 0.51 -
2F| 0.05 0.9 0.02 —
3F| 0.03 0.9 0.01 —
EHEFFESA ik et B R Hh s
itiEE £ 1XiE ALEEFTO = HET
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3% Mt A > Ty RARE 12 6. 22 1.5 4.73 -
2% 2.99 1.1 2.20 -
3% 1.85 1.0 1.35 -
458 g4 T vy RAR 12 6. 22 1.5 4.73 -
2% 2.99 1.1 2.20 —
3% 1.85 1.0 1.35 -
#HERTE A Hhiz HET B dhisg
tiEE £1RXE AtEE RN
XILBIAEIA : , -
HEBREZEES e e = = =
% % % %
3% Mt > Ty AARE 12 11.56 1.6 9.97 —
2% 7.88 1.3 6. 59 -
3% 514 1.2 3.95 -
458 g4 T vy RAR 12 11.56 1.6 9.97 -
2% 7.88 1.3 6.59 —
3% 514 1.2 3.95 -




HEEMDELE

ZFI1E
EHEFFESA Hh g HET B ihisg
tiEE %1 X JtiEErE RET
g | smmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE BEWEER R R
% % % %
3% g4 T v AARK 1E| 9.01 1.5 7.52 —
2 F| 5.88 1.2 4.69 —
3F| 3.89 1.1 2.95 —
458 i VT vy XA 1% 7.73 1.3 6. 44 -
2F| 5.27 1.1 4.18 —
3F| 3.89 1.1 2.95 —
EHEFFESA Hhigg HET B ihisg
itiEE % 1Xi AtiEE S TR
g | osmmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE REWEE R R
% % % %
3% g4 T v AARK 1E| 10. 91 2.0 8.92 —
2 F| 6.33 1.3 5.04 —
3F| 3.29 1.1 2.39 —
458 i VT vy XA 1% 7.81 1.5 6.32 -
2% 4. 64 1.2 3.45 —
3F| 2.08 1.1 1.45 —
EHEFFESA Hh g HET B ihisg
itiEE £ 1Xi JtiEE LRI ET
B T 1 R O
sEpaEn s | BEE BEWEE R R
% % % %
3% g4 T v AARK 1E| 6. 58 1.5 5.09 —
2 F| 3.39 1.1 2.53 —
3F| 2. 31 1.0 1.73 —
458 i VT vy XA 1% 6.58 1.5 5.09 -
2F| 3.39 1.1 2.53 —
3F| 2. 31 1.0 1.73 —




HEEMDIELE

ziE
HEFRE ot hEt B i
I % 1R At BT
D) siEms | s | AEME | mwEs | mRER | REd
fEREESS | T R . -
% % % %
3% Hulg A Ty AAR 1] 9.65 1.7 7.96 -
2 & 6.45 1.1 5.36 -
3 & 4.67 1.1 3.59 -
44 A VT Yo RAH 18 9.79 1.7 8.10 —
2 6.80 1.1 5.7 -
3 &l 4.86 1.1 3.71 -
HEFRE ot hEt B i
Il % 1R It R AT
BE5 siEms | s | AEME | mewEs | mRER | EEd
wEREEss | T RS A A
% % % %
3% Hilg A VT vy AAR 1] 12.44 1.9 10.55 -
2 & 8.53 1.3 1.24 -
3 & 5.82 1.2 4.63 -
44 A VT Yo RAR 18 10.87 1.9 8.98 —
2 6.72 1.3 5.43 -
3 & 4.57 1.1 3.51 -
HEFRE ot hEt B i
I %1 R It tg:E B LT
A5 sEms | s | AEEE | mredw | AgEE | Ee
wEREEss | T RS A A
% % % %
3F BT yIAAR 18 9.54 1.4 8. 15 -
2 & 1.06 1.1 5.97 -
3 & 5.21 1.1 4.18 -
44 A VT Yo RAK 18 9.09 1.6 7.50 —
2 6.07 1.1 4.98 -
3 &l 4.48 1.1 3. 44 -




HEEMDELE

ZFI1E
EHEFFESA Hh g HET B ihisg
tiEE % 1Xi dtiEE A R2HT
g | smmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE BEWEER R R
% % % %
3% g4 T v AARK 1E| 9.46 1.6 7.87 —
2 F| 6.18 1.2 4.99 —
3F| 3.57 1.1 2.62 —
458 i VT vy XA 1% 7.75 1.5 6.26 -
2F| 5.38 1.1 4.29 —
3F| 3.30 1.1 2.46 —
EHEFFESA Hhigg HET B ihisg
itiEE % 1Xi bl &S h =)
g | osmmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE REWEE R R
% % % %
3% g4 T v AARK 1E| 10. 30 1.8 8.51 —
2 F| 6.59 1.5 5.10 —
3F| 2.73 1.1 1.93 —
458 i VT vy XA 1% 9.94 1.8 8.15 -
2F| 6.09 1.5 4.60 —
3F| 2.82 1.1 2.06 —
EHEFFESA Hh g HET B ihisg
itiEE £ 1Xi dtEEE 2B
B T 1 R O
sEpaEn s | BEE BEWEE R R
% % % %
3% g4 T v AARK 1E| 9.83 1.6 8.24 —
2 F| 6. 69 1.5 5.20 —
3F| 3.22 1.1 2.39 —
458 i VT vy XA 1% 8.84 1.6 7.25 -
2F| 5.48 1.3 4.19 —
3F| 2.72 1.1 1.98 —




HEEMDIELE

ZI1E
EHEFFESA ik et B R Hh s
itiEE %1 X AtiEE ki AT
g | osmmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | | BEE BEWER R R
% % % %
3% g4 T v AARK 1E| 9.82 1.6 8.23 —
2 F| 6. 37 1.2 5.18 —
3F| 3.56 1.2 2.53 —
458 i VT vy XA 1% 8.22 1.6 6. 63 -
2F| 5.14 1.1 4.05 —
3F| 2.95 1.1 2. 11 —
HEFFESA ik et B R dh s
itiEE £ 1XiE At E F AL I AT
g | osmmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE R EE R R
% % % %
3% g4 T v AARK 1E| 8.39 1.8 6. 60 —
2 F| 4.85 1.1 3.76 —
3F| 2.68 1.1 1.95 —
458 i VT vy XA 1% 9.15 2.0 7.16 -
2F| 5.04 1.3 3.75 —
3F| 2.68 1.1 1.95 —
EHEFFESA i et B R dh s
itiEE % 1XiE tiEErRERT
B Epx | NS smme | mfpEs | BEES | 8BS
sEpaEn s | | BEE BEMEER R R
% % % %
3% g4 T v AARK 1E| 10.14 1.8 8.35 —
2 F| 5.99 1.5 4.50 —
3F| 3.03 1.1 2.24 —
458 i VT vy XA 1% 10.14 2.0 8.15 -
2F| 5.35 1.2 4.16 —
3F| 3.03 1.1 2.24 —




HEEMDELE

ZFI1E
EHEFFESA Hh g HET B ihisg
tiEE % 1Xi dtiEE AL EmT
g | smmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE BEWEER R R
% % % %
3% g4 T v AARK 1E| 9.05 2.2 6. 86 —
2 F| 4.20 1.5 2.80 —
3F| 1.86 1.0 1.36 —
458 i VT vy XA 1% 8.96 1.9 7.07 -
2F| 4. 91 1.5 3.42 —
3F| 2.16 1.1 1.52 —
EHEFFESA Hhigg HET B ihisg
itiEE % 1Xi dtEE ;E HET
g | osmmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE REWEE R R
% % % %
3% g4 T v AARK 1E| 8.43 1.6 6.84 —
2 F| 4.87 1.3 3.58 —
3F| 2.06 1.0 1.52 —
458 i VT vy XA 1% 8. 67 1.8 6.88 -
2F| 4. 47 1.3 3.18 —
3F| 2.06 1.0 1.52 —
EHEFFESA Hh g HET B ihisg
itiEE %1 X At i@ & fE A T
B T 1 R O
sEpaEn s | BEE BEWEE R R
% % % %
3% g4 T v AARK 1E| 7.48 1.5 5.99 —
2 F| 4.38 1.2 3.20 —
3F| 2.18 1.0 1.62 —
458 i VT vy XA 1% 8.76 1.5 7.27 -
2F| 5.19 1.3 3.90 —
3F| 2.62 1.1 1.90 —




HEEMDIELE

ziE
HEFRE ot hEt B i
I % 1R It B B AT
D) siEms | s | AEME | mwEs | mRER | REd
fEREESS | T R . -
% % % %
3% Hulg A Ty AAR 1] 8.19 1.8 6.40 -
2 & 4.60 1.2 3. 41 -
3 & 2.39 1.1 1.7 -
44 A VT Yo RAH 18 6. 81 1.6 5.22 —
2 3.1 1.2 2.15 -
3 &l 1.24 1.0 0.84 -
HEFRE ot hEt B i
Il % 1R 3t 4338 24 R AT
BE5 siEms | s | AEME | mewEs | mRER | EEd
wEREEss | T RS A A
% % % %
3% Hilg A VT vy AAR 1] 10. 65 1.8 8.86 -
2 & 6. 86 1.5 5.37 -
3 & 3.49 1.2 2.47 -
44 A VT Yo RAR 18 11.12 1.8 9.33 —
2 & 6.93 1.5 5.44 -
3 & 3.74 1.2 2.67 -
HEFRE ot hEt B i
I %1 R JLim il LA AT
A5 sEms | s | AEEE | mredw | AgEE | Ee
wEREEss | T RS A A
% % % %
3% Hulg A Ty RAAR 1] 11.73 1.7 10. 04 -
2 & 8.49 1.5 7.00 -
3 & 4.99 1.3 3.70 -
44 A V7Y o RAR 18 9.20 1.6 7.61 —
2 6.63 1.1 5.54 -
3 &l 4.69 1.1 3.60 -




HEEMDELE

ZFI1E
EHEFFESA Hh g HET B ihisg
tiEE % 1Xi At ;58 = R BT
g | smmx | 0 | e | agmEs | mEES | EEs
sEpaEn s | | BEE BEWEER R R
% % % %
3% g4 T v AARK 1E| 12.29 1.9 10. 40 —
2 F| 8.93 1.2 1.74 —
3F| 6. 56 1.2 5.37 —
458 i VT vy XA 1% 12.26 1.8 10. 47 -
2F| 8.94 1.3 7.65 —
3F| 6.03 1.2 4.84 —
EHEFFESA Hhigg HET B ihisg
itiEE % 1Xi JdbiEE £ )IET
s sEpx | NS smme | mfpEs | BEES | BB
sEpaEn s | | BEE B EE R R
% % % %
3% g4 T v AARK 1E| 7.79 1.2 6. 60 —
2 F| 5.90 1.1 4. 81 —
3F| 4.24 1.1 3.24 —
458 i VT vy XA 1% 7.86 1.2 6. 67 -
2F| 5.90 1.1 4. 81 —
3% 4.24 1.1 3.24 —
EHEFFESA Hh g HET B ihisg
itiEE %1 X JtiEE I /T
B T 1 R O
sEpaEn s | BEE BEWEE R R
% % % %
3% g4 T v AARK 1E| 1.57 2.0 5.58 —
2 F| 3.53 1.1 2.59 —
3F| 1.30 1.1 0.80 —
458 i VT vy XA 1% 7.45 2.0 5.46 -
2F| 3.21 1.1 2.33 —
3F| 1.30 1.1 0.80 —




HEEMDIELE

ZI1E
EHEFFESA ik et B R Hh s
itiEE £ 1XiE dt 8 = BL AT
g | osmmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | | BEE BEWER R R
% % % %
3% g4 T v AARK 1E| 6.67 2.0 4.68 —
2 F| 2.17 1.2 1.37 —
3F| 0.65 0.9 0.43 —
458 i VT vy XA 1% 6. 67 2.0 4.68 -
2F| 2.16 1.2 1. 37 —
3F| 0.65 0.9 0.43 —
HEFFESA ik et B R dh s
itiEE £ 1XiE itiEE = B EFHT
g | osmmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE R EE R R
% % % %
3% g4 T v AARK 1E| 1.46 1.6 5.87 —
2 F| 4 .24 1.1 3.18 —
3F| 2.47 1.1 1.77 —
458 i VT vy XA 1% 10. 27 1.8 8. 48 -
2F| 6.22 1.5 4.73 —
3F| 3.17 1.1 2.29 —
EHEFFESA i et B R dh s
itiEE %1 X tiEES = BEPET
B Epx | NS smme | mfpEs | BEES | 8BS
sEpaEn s | | BEE BEMEER R R
% % % %
3% g4 T v AARK 1E| 5.80 1.5 4. 31 —
2 F| 2.67 1.0 2.03 —
3F| 1.65 1.0 1.18 —
458 i VT vy XA 1% 5.80 1.5 4.31 -
2F| 2.67 1.0 2.03 —
3F| 1.65 1.0 1.18 —




HEEMDELE

£
#HIERTE A hizg ST E L thig
tiEE %1 R dtiEEm = B T
T HFREIE [ s N " "
HEBREZEE S e e = = =
% % % %
3% Mt A > Ty AAR 12 7.40 1.9 5.51 —
2% 3. 41 1.2 2.40 —
3% 1.45 1.0 1.02 -
458 g4 T vy RAR 12 8.95 1.9 7.06 -
2% 5.07 1.3 3.78 —
3% 2.66 1.1 1.93 —
#HIERTE A hisg ST E R thig
tiEE £1RXE tiEE e
T HGHREIE . s N " "
HEBREZEE S e e = = =
% % % %
3% Mt A > Ty RARE 12 4.82 1.4 3.43 —
2% 1.85 1.0 1.35 —
3% 1.17 0.9 0. 86 -
458 g4 T vy RAR 12 4.82 1.4 3.43 -
2% 1.85 1.0 1.35 —
3% 1.17 0.9 0. 86 —
#ERTE A hisg ST E R thig
tiEE % 1R JtiEEFNZERT
X HFREIE . s o e, " "
HEBREZEES e e = = -
% % % %
3% Mt > Ty AARE 12 9.45 1.8 7.66 —
2% 5.35 1.6 3.76 —
3% 2.54 1.0 1.92 —
448 g4 T vy RAR 12 9.83 1.8 8.04 -
2% 5.78 1.6 4.19 —
3% 2.67 1.1 1.94 —




HEEMDIELE

ti
BERRE i et B i
s %159 LB RIAET
L 2| A
N S IRBIEHE | srme | memEw | SRR RIEH
= % wxprEns | PEE | BEREE | ERE 2%
% % % %
3 A Ty AARX 18| 9.59 1.6 8.00 -
2%E| 6.10 1.3 4.81 -
3 & 3.50 1.1 2.62 -
4% g4 > Ty o RAR 1 10.01 1.6 8. 42 -
2 6.47 1.3 5.18 -
3 4.16 1.1 3.17 -
HERRE i et B i
TtmiE %159 BT
L 2| A
N S IRBIEEE | srme | menEw | SRR RN
= % wxprEns | BEE | BEREE | ERE Bt
% % % %
3 A Ty AARX 18| 8. 31 1.5 6. 82 -
2%E| 5.49 1.2 4.30 -
3 & 2.80 1.2 1.90 -
4% g4 > T v o RAR 1 8. 55 1.6 6. 96 -
2% 5. 68 1.2 4.49 -
3 2.86 1.1 2.04 -
HERRE i et B i
s %159 T8 T
L | A
N S IRBIEHE | srme | memEw | SRR RN
= % wxprEns | PEE | BEREE | ERE Bt
% % % %
3 A Ty AARX 18| 13.80 2.0 11. 81 -
23 9.79 1.6 8.20 -
3 & 6.09 1.2 4.90 -
4% g4 > T v o RAR 1 13.43 2.0 11.44 —
2 9.41 1.6 7.82 -
3 5.63 1.2 4.44 -




HEEMDELE

zl1E
BRI A i it B
itimiE %1 RH 15 E E AT A
D) sEmm | e e | REnEE | AR R
HEREBEES o R e w2
% % % %
3% igif T v RAK 12| 9.34 1.9 7.45 —
2| 5.08 1.3 3.79 —
3E| 2.25 1.1 1.59 —
448 A LTy ) XA 1 9.88 1.6 8.29 -
2| 6.32 1.5 4.83 —
3E| 2.90 1.1 2.07 —
BRI A i it B
it %1 RH 3t 338 R 11 BT
=5 sEms | s | AEE® | mregw | AgES | fEe
HEREBEES o RS L L
% % % %
3% igi4A T v RAK 12| 5.98 1.5 4.49 —
2| 2.49 1.2 1.64 —
3E| 0.70 1.0 0.40 —
448 A LTy AAR 1 5. 98 1.5 4.49 -
2| 2.49 1.2 1.64 —
3E| 0.70 1.0 0.40 —
BRI A o it B
it %1 RH 3t 5 A PIRT
A5 sEms | e | AEEE | mregw | AgES | fEe
HEREBEES o REIEE L L
% % % %
3% igiA T v RAK 12| 8.67 1.9 6.78 —
2| 5.18 1.2 3.99 —
3E| 3.53 1.0 2.74 —
448 A 2Ty AAR 1 8.49 1.7 6. 80 -
2| 5.26 1.2 4.07 —
3E| 3.53 1.0 2.74 —




HEEMDIELE

ziE
HEFRE ot hEt B i
I % 1R 13538 1 £ T
D) siEms | s | AEME | mwEs | mRER | REd
fEREESS | T R . -
% % % %
3% Hulg A Ty AAR 1] 12.16 2.0 10. 17 -
2 & 8.07 1.5 6.58 -
3 & 4.49 1.2 3.30 -
44 A VT v o RAR 18 11.37 2.0 9.38 —
2 6.94 1.5 5.45 -
3 & 3.14 1.2 2.18 -
HEFRE ot hEt B i
Il % 1R At /N BT
BE5 siEms | s | AEME | mewEs | mRER | EEd
wEREEss | T RS A A
% % % %
3% Hilg A VT vy AAR 1] 11.54 2.6 8.95 -
2 & 6.03 1.8 4.24 -
3 & 2.03 1.1 1.35 -
44 A VT Yo RAR 18 9.05 1.8 7.26 —
2 4.82 1.3 3.53 -
3 & 1.89 1.1 1.29 -
HEFRE ot hEt B i
I %1 R et AT
A5 sEms | s | AEEE | mredw | AgEE | Ee
wEREEss | T RS A A
% % % %
3% Hulg A Ty RAAR 1] 9.96 1.7 8.217 -
2 & 6.02 1.3 4.73 -
3 & 3.25 1.1 2.36 -
44 A VT Yo RAK 18 9.96 1.7 8.27 —
2 6.02 1.3 4.73 -
3 &l 3.25 1.1 2.36 -




HEEMDELE

£
#HIERTE A hizg ST E L thig
tiEE %1 R JtiEE PR ET
T HFREIE [ s N " "
HEBREZEE S -~ -~ = = =
% % % %
3% Mt A > Ty AAR 12 12.08 2.3 9.79 —
2% 7.40 1.5 5.91 —
3% 3.53 1.3 2.40 —
458 g4 T vy RAR 12 12.19 2.3 9.90 -
2% 7.02 1.5 5.53 —
3% 3. 31 1.2 2.32 —
#HIERTE A hisg ST E R thig
tiEE £1RXE deiEE AL B4
T HGHREIE . s N " "
HEBREZEE S -~ -~ = = =
% % % %
3% Mt A > Ty RARE 12 14.70 1.7 13.01 —
2% 11.42 1.6 9.83 —
3% 7.61 1.5 6.12 -
458 g4 T vy RAR 12 9.75 1.4 8. 36 -
2% 7.32 1.2 6.13 —
3% 4.99 1.1 3.90 —
#ERTE A hisg ST E R thig
tiEE % 1R JtiE &= BT
XILBIAEIA : , _—
HEBREZEES e e = = =
% % % %
3% Mt > Ty AARE 12 12.17 1.6 10.58 —
2% 8.77 1.6 7.18 —
3% 5.30 1.2 4.11 -
458 g4 T vy RAR 12 11.29 1.6 9.70 -
2% 8.29 1.5 6. 80 —
3% 4.91 1.2 3.72 —




HEEMDIELE

£
#HIERTE A Hhiz HET B ihisg
tigE %1 R tiEEXIERT
T HFHREIE [ s o e, " "
HEBREZEE S -~ -~ = = =
% % % %
3% Mt A > Ty AAR 12 6. 22 1.5 4.73 -
2% 2.99 1.1 2.20 -
3% 1.85 1.0 1.35 -
458 g4 T vy RAR 12 6. 22 1.5 4.73 -
2% 2.99 1.1 2.20 —
3% 1.85 1.0 1.35 -
#HIERTE A Hhiz #HET B thisg
tiEE F1RXE tiEEIRILA
i*l\ﬁﬁyél\gué b 1 he= 41 oy PN
HEBREZEES e e = = =
% % % %
3% Mt A > Ty RARE 12 6. 22 1.5 4.73 -
2% 2.99 1.1 2.20 -
3% 1.85 1.0 1.35 -
458 g4 T vy RAR 12 6. 22 1.5 4.73 -
2% 2.99 1.1 2.20 —
3% 1.85 1.0 1.35 -
#HERTE A Hhiz HET B dhisg
tiEE %1 R At & R E Bl BT
XILBIAEIA : , -
HEBREZEES e e = = =
% % % %
3% Mt > Ty AARE 12 6. 22 1.5 4.73 -
2% 2.99 1.1 2.20 -
3% 1.85 1.0 1.35 -
448 g4 T vy RAR 12 6. 22 1.5 4.73 -
2% 2.99 1.1 2.20 —
3% 1.85 1.0 1.35 -




HEEMDELE

£
#HIERTE A hizg ST E L thig
tiEE %1 R At i@ & hifE B BT
T HFREIE [ s N " "
HEBREZEE S e e = = =
% % % %
3% Mt A > Ty AAR 12 6.22 1.5 4.73 —
2% 2.99 1.1 2.20 —
3% 1.85 1.0 1.35 —
458 g4 T vy RAR 12 6. 22 1.5 4.73 -
2% 2.99 1.1 2.20 —
3% 1.85 1.0 1.35 —
#HIERTE A hisg ST E R thig
tiEE £1RXE dtimE R SEmT
T HGHREIE . s N " "
HEBREZEE S e e = = =
% % % %
3% Mt A > Ty RARE 12 6.22 1.5 4.73 —
2% 2.99 1.1 2.20 —
3% 1.85 1.0 1.35 —
458 g4 T vy RAR 12 6. 22 1.5 4.73 -
2% 2.99 1.1 2.20 —
3% 1.85 1.0 1.35 —
#ERTE A hisg ST E R thig
tiEE £1RXE dtiEE 2 =0
X HFREIE . s o e, " "
fEREESS | 7 S = -
% % % %
3% Mt > Ty AARE 12| 6.22 1.5 4.73 —
2% 2.99 1.1 2.20 —
3% 1.85 1.0 1.35 —
448 g4 T vy RAR 12 6. 22 1.5 4.73 -
2% 2.99 1.1 2.20 —
3% 1.85 1.0 1.35 —




HEEMDIELE

ZI1E
EHEFFESA ik et B R Hh s
itiEE £ 1XiE At ;& %L SCHT
g | osmmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | | BEE BEWER R R
% % % %
3% g4 T v AARK 1E| 6.22 1.5 4.73 —
2 F| 2.99 1.1 2.20 —
3F| 1.85 1.0 1.35 —
458 i VT vy XA 1% 6.22 1.5 4.73 -
2F| 2.99 1.1 2.20 —
3F| 1.85 1.0 1.35 —
HEFFESA ik et B R dh s
itiEE £ 1XiE At & F T
g | osmmx | 0 | e | aemEs | mEES | EEs
sEpaEn s | BEE R EE R R
% % % %
3% g4 T v AARK 1E| 6.22 1.5 4.73 —
2 F| 2.99 1.1 2.20 —
3F| 1.85 1.0 1.35 —
458 i VT vy XA 1% 6.22 1.5 4.73 -
2F| 2.99 1.1 2.20 —
3F| 1.85 1.0 1.35 —
EHEFFESA i et B R dh s
itiEE %1 X LEEFRE T
B Epx | NS smme | mfpEs | BEES | 8BS
sEpaEn s | | BEE BEMEER R R
% % % %
3% g4 T v AARK 1E| 6.22 1.5 4.73 —
2 F| 2.99 1.1 2.20 —
3F| 1.85 1.0 1.35 —
458 i VT vy XA 1% 6.22 1.5 4.73 -
2F| 2.99 1.1 2.20 —
3F| 1.85 1.0 1.35 —




HEEMDELE

£
#HIERTE A hizg ST E L thig
tiEE %1 R JtiEE R AT
T HFREIE [ s N " "
HEBREZEE S e e = = =
% % % %
3% Mt A > Ty AAR 12 6. 22 1.5 4.73 —
2% 2.99 1.1 2.20 —
3% 1.85 1.0 1.35 -
458 g4 T vy RAR 12 6. 22 1.5 4.73 -
2% 2.99 1.1 2.20 —
3% 1.85 1.0 1.35 —
#HIERTE A hisg ST E R thig
tiEE £1RXE At E ERET
T HGHREIE . s N " "
HEBREZEE S e e = = =
% % % %
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